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-x: int x R
-y : int y FERE
- type : int S5ty oD e 4
- movableFileVector, movableRankVector : int a[oy: SNy
+ Piece (type : int) aAVALIIR
+ Piece (type : int, file : int, rank : int) IVANTIIR
+ setMovableVector () : void SoBEHRLmELY b3S
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+ setPosition (x : int, y : int) : void Bz fgEfEIcy MT 2
+ setOnBoard () : void By % i FIziE <
+ removeFromBoard () : void iz Loy
+ isOnBoard () : boolean B Bizd 0 HET B
+ file () : int B x PR RS
+ rank () : int B y pER RS
+ type () : int B OfESH 2K
+ name () : String L HIOFA: iRy
+ move (nextFile : int, nextRank : int) : void Bz EMEICBRE T 5

+ movableList (board : int[][]) : ArrayList<NextMove>
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- teban : int FT&
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+ deleateKomadai (i : void
+ resetKomadai () : void
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- nextFile : int B D x FEfE

- nextRank : int B D v A
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+ nextFile () : int BEIED x FEEE KRS
+ nextRank () : int B y BEEERY
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- nextFile : int BEdED x R
- nextRank : int BEED y B
- gyoku : Piece Dkt
- kin : Piece SO
- gin : Piece RO K
- e_gyoku : Piece e-E Dk
- e_kin : Piece e~ DNy
- e_gin : Piece e- SR
- movableList : ArrayList<NextMove> BERHFEDY X b
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+ Board (board : int[][]) AVARI IR
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+ resetBoard () : void

+ setKomadai (p : Piece, teban : int) : void
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+ resetKomadai () : void

+ showKomadai () : void

+ setPiece (p : Piece, y : int, x : int) : void
+ deleatePiece (p : Piece, y : int, x : int) : void
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+ getKomadai () : int]][]
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+ showBoard () :
+ showPiece (type : int) : String
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+ ekinNumber () : int

+ ginNumber () : int

+ e_ginNumber () : int

+ madelndex () : int

+ isMate (playerNum : int) : boolean

void

+ isChecked (playerNum : int) : boolean

+ ismultyChecked (playerNum : int) : boolean
int) :
+ nextBoard (nextMove : NextMove, playerNum : int) : Board
+ nextBoard (nextMove : NextMove,

int[][]) : Board

+ movePiece (piece : Piece, type : int, nextFile : int, nextRank : int) :

+ createMovableList (playerNum : void

playerNum : int, komadai :
void

+ removePiece (nextFile : int, nextRank : int) : void
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Kyokumen RHiERT I I A
- aaa : byte[536870912] SERfRNTY 22T ORI
- board.i : int[7] BmERT 7HORT
- bo : Board & FH D board
- teban : int FH

- undecided, win, loss, draw, no : int
- gyoku, kin, gin, e_gyoku, e_kin, e_gin : Piece

- piece, kinl, kin2, ginl, gin2 : Piece
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+ setkingin (board : int) : void HROMAEDLEEEY TS
+ madeBoard (board : int) : void T & KT 16 #EED T HIOBFH S board EAKT B
+ isChecked () : void SR OEFTE LTS AY Y K
+ checkMadeBoard (board : int) : boolean Board ZEKTE 50> HEET S
+ allMotigomacheck (board : int) : boolean SIMETHRLEMOBEOHER2T 5
+ kinlkin2gin1Check (board : int) : boolean  kinl,kin2,ginl 2 R5EI DL EDHEE T 5
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+ kinlkin2Check (board : int) : boolean kinl,kin2 3R bEOHEDHEEZ T 5
+ kinlgin1Check (board : int) : boolean kinl,ginl R HEIOHEDHEE TS
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+ kin2gin1Check (board : int) : boolean kin2,ginl 2R BFIDIGEDHE % T 5
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PRI TE 1898248365 F BB 6493812018 F RS 69037748 F W ETHE213070208
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2R METE 33782601 0 F BB 6803104278 F RS 22198607151 E T EE213070208
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4R METFE 31507225 F B5E 6803194278 F 55 22426153751 A~ HE213070208
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THRMEFE31275342 F 55 6803194278 F 55 2244934205 1A HE213070208
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8 A OV SLDY—RI—R
URIZAHECER L 72 State 72 9 ADY — A 32— K &ERT.

package syogi;

public class State {

public static void main(String[] args) {
Kyokumen kyokumen = new Kyokumen(); // BIDIEHR%E EEHRT 3

© 00 N & Ot s W N

—_ =
=]

kyokumen.isChecked () ;

N T e e e
O © 00 N O Ot k= W N
<
—

21
UTFIZARIFE TIER L 72 Piece 7 7 ADY — A 31— R%&ERT.
package syogi;
import java.util.ArrayList;

1

2

3

4

5 public class Piece {
6 // EFOF BEFAE
7

8

final static int GYOKU = 1; // E
final static int KIN = 2; // 4B
9 final static int GIN = 3; // &
10
11 // BFOE BERE
12 final static int E_GYOKU = -1; // £
13 final static int E_KIN = -2; // %R
14 final static int E_GIN = -3; // &
15
16 final static int EMPTY = 0; // ZZH
17 final static int BORDER = Integer.MAX_VALUE; // 84
18 boolean isOnBoard; // BAAERE LICHZHE D H

12



19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75

int x; // x BR
int y; // y BB
int type; // BADTELH

int movableFileVector[], movableRankVector[]; // HBmEEA M

// BN BERRER X ERE Y EEDHE
// E{&, £k, £, BE, B, BF, T, £F}

final static int[] GYOKU_X = {-1, -1, 0, 1, 1, 1, 0, -1};
final static int[] GYOKU_Y = {0, -1, -1, -1, 0, 1, 1, 1};

// & {&£. £EL. £ AL, A T}

final static int[] KIN_X = {-1, -1, 0, 1, 1, 0};
final static int[] KIN_Y = {0, -1, -1, -1, 0, 1};
// ] {£L. £, HE. BF. £F}

final static int[] GIN_X = {-1, 0, 1, 1, -1};
final static int[] GIN_Y = {-1, -1, -1, 1, 1};

// EE

final static int[] e_GYOKU_X = {-1, -1, 0, 1, 1, 1
final static int[] e_GYOKU_Y = {0, -1, -1, -1, O,
final static int[] e_GIN_X = {1, 1, 0, -1, -1, 0};
final static int[] e_GIN_Y = {0, 1, 1, 1, 0, -1};
final static int[] e_KIN_X = {1, 0, -1, -1, 1};
final static int[] e_KIN_Y = {1, 1, 1, -1, -1};

YELS

* AVAKNZU4

* Q@param int type FADTEIE

*/

public Piece(int type) {
this.type = type;
setMovableVector(); // FIDHBE AR %HE
setInitialPosition(); // #WIHAIB%%E

/*x

* AVANZU%

* @param int type FIDTEH

* @param int file #4

* Qparam int rank fft

*/

public Piece(int type, int file, int rank) {
this.type = type;
setMovableVector(); // FADOHBENHA%HRE
this.x = file;
this.y = rank;
this.isOnBoard = true; // #EAIEHEE LEICH S

/*

* BOBEARAEZEY bTD

*/

public void setMovableVector() {
switch(type) { // BIDBETHIXT

case GYOKU:
movableFileVector = GYOKU_X;
movableRankVector = GYOKU_Y;

13
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76 break;

7 case KIN:

78 movableFileVector = KIN_X;
79 movableRankVector = KIN_Y;
80 break;

81 case GIN:

82 movableFileVector = GIN_X;
83 movableRankVector = GIN_Y;
84 break;

85 case E_GYOKU:

86 movableFileVector = e_GYOKU_X;
87 movableRankVector = e_GYOKU_Y;
88 break;

89 case E_KIN:

90 movableFileVector = e_KIN_X;
91 movableRankVector = e_KIN_Y;
92 break;

93 case E_GIN:

94 movableFileVector = e_GIN_X;
95 movableRankVector = e_GIN_Y;
96 break;

97

98 default:

99 System.out.println("BIDFEEEZZHTEIEA");
100 }

101 }

102 /%

103 * BIEFEANIEBICERET

104 * EREFEmOLLE (x,y)=(1,1) £T 3

105 */

106 public void setInitialPosition() {

107 switch(type) {

108 case GYOKU:

109 y = 4;

110 x =1;

111 break;

112 case KIN:

113 y = 4;

114 x = 2;

115 break;

116 case GIN:

117 y = 4;

118 x = 3;

119 break;

120 case E_GYOKU:

121 y=1;

122 x = 4;

123 break;

124 case E_KIN:

125 y=1;

126 x = 3;

127 break;

128 case E_GIN:

129 y=1;

130 x = 2;

131 break;

132 }

14



133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166
167
168
169
170
171
172
173
174
175
176
177
178
179
180
181
182
183
184
185
186
187
188
189

isOnBoard = true;
}
/*
* BIAEIRE LAMBICRET D
*/
public void setPosition(int x, int y) {

this.x = x;

this.y = y;
isOnBoard = true;
}
/%
* Bafg FICE<
*/

public void setOnBoard() {
isOnBoard = true;
}
/*
* BB ENSHT
*/
public void removeFromBoard() {
isOnBoard = false;
}
/*
* BN EICHINEIDEHET D
*/
public boolean isOnBoard() {
return isOnBoard;
}
/*
* B0 X EEARY
*/
public int file() {
return this.x;
}
/*
* B Y BEEARY
*/
public int rank() {
return this.y;
}
/*
* BADERERY
*/
public int type() {
return this.type;

}

/%

* BDERTZRY
*/

public String name() {

switch(type) {
case GYOKU:

return "E";
case KIN:

return "&";
case GIN:

return "$R";

15



190
191
192
193
194
195
196
197
198
199
200
201
202
203
204
205
206
207
208
209
210
211
212
213
214
215
216
217
218
219
220
221
222
223
224
225
226
227
228
229
230
231
232
233
234
235
236
237
238
239
240
241
242
243
244
245
246

case E_GYOKU:
return "E";

case E_KIN:
return "&";
case E_GIN:
return "£R";
default:
return "7?";
}
}
/%
* BIZEEDOMNEICKRET S
*/

public void move(int nextFile, int nextRank) {
x = nextFile;

y = nextRank;

/%
* BIDBEN TR ERE AR
*/
public ArrayList<NextMove> movableList(int[][] board){
ArrayList<NextMove> movableList = new ArrayList<NextMove>();
// BENERERAIE (BAEEH. 6x6 & LTIRA D)
boolean[] [] isMovable = {{false, false, false, false, false, false},
{false, true, true, true, true, false},
{false, true, true, true, true, false},
{false, true, true, true, true, falsel},
{false, true, true, true, true, false},
{false, false, false, false, false, falsel}};
switch(type) { // DI L 2BERARELMBEOHIE
case GYOKU:
for(int r = 1; r <= 4; ++r) {
for(int £ = 1; f <= 4; ++f) {
switch(board[r] [f]) {
case GYOKU: // BRIOAMIEICRBHTE AL
case KIN:
case GIN:
isMovable[r] [f] = false;
break;
case E_GYOKU: // BOEICERRSNZUEICHBERA
isMovable[r] [f-1] = false;
isMovable[r+1] [f-1] = false;
isMovable[r+1] [f] = false;
isMovable[r+1] [f+1] = false;
isMovable[r] [f+1] = false;
isMovable[r-1] [f+1] = false;
isMovable[r-1] [f] = false;
isMovable[r-1] [f-1] = false;
break;
case E_KIN: // BOEICISNZABICKE AT
isMovable[r] [f+1] = false;
isMovable[r+1] [f+1] = false;
isMovable[r+1] [f] = false;
isMovable[r+1] [f-1] = false;
isMovable[r] [f-1] = false;
isMovable[r-1] [f] = false;

16



247
248
249
250
251
252
253
254
255
256
257
258
259
260
261
262
263
264
265
266
267
268
269
270
271
272
273
274
275
276
277
278
279
280
281
282
283
284
285
286
287
288
289
290
291
292
293
294
295
296
297
298
299
300
301
302
303

}
case KIN:
case GIN:

break;

case E_GIN: // BOIRICESNBMEBICHEART
isMovable[r+1] [f+1] = false;
isMovable[r+1] [f] = false;
isMovable[r+1] [f-1] = false;
isMovable[r-1] [f-1] = false;
isMovable [r-1] [f+1]
break;

false;

for(int r = 1; r <= 4; ++r) {

}

break;
case E_GYOKU:

for(int £ = 1; f <= 4; ++f) {

switch(board[r] [£f]) {
case GYOKU: // BEOMEICIEBEITE AL
case KIN:
case GIN:
isMovable[r] [f] = false;
break;

for(int r = 1; r <= 4; ++r) {

for(int £ = 1; f <= 4; ++f) {

switch(board[r] [f]) {

case E_GYOKU: // BRIOMEICEBHTEAV

case E_KIN:

case E_GIN:
isMovable[r] [f] = false;
break;

case GYOKU:
isMovable[r] [f-1] = false;
isMovable[r-1] [f-1] = false;
isMovable[r-1] [f] = false;
isMovable[r-1] [f+1] = false;
isMovable[r] [f+1] = false;
isMovable[r+1] [f+1] = false;
isMovable[r+1] [f] = false;
isMovable[r+1] [f-1] = false;
break;

case KIN:
isMovable[r] [f-1] = false;
isMovable[r-1] [f-1] = false;
isMovable[r-1] [f] = false;
isMovable[r-1] [f+1] = false;
isMovable[r] [f+1] = false;
isMovable[r-1] [f+1] = false;
isMovable[r+1] [f] = false;
break;

case GIN:
isMovable[r-1] [f-1] = false;
isMovable[r-1] [f] = false;
isMovable[r-1] [f+1] = false;

17



304 isMovable[r+1] [f+1] = false;

305 isMovable[r+1] [f-1] = false;

306 break;

307 }

308 }

309 }

310 case E_KIN:

311 case E_GIN:

312 for(int r = 1; r <= 4; ++r) {

313 for(int f = 1; f <= 4; ++f) {

314 switch(board[r] [f]) {

315 case E_GYOKU: // BEIDAMIEICIEBEITE AL

316 case E_KIN:

317 case E_GIN:

318 isMovable[r] [f] = false;

319 break;

320 }

321 }

322 }

323 break;

324 }

325 for(int i = 0; i < movableFileVector.length; ++i) { // BEHELINFz VI TS

326 int nextFile = x + movableFileVector[i];

327 int nextRank = y + movableRankVector[il;

328 if (isMovable [nextRank] [nextFile]) {

329 NextMove nextMove = new NextMove(type, nextFile, nextRank); // #
BEfgE) 2 MTKA

330 movableList.add(nextMove) ;

331 }

332 }

333

334 return movableList;

335 }

336

337 3}

PUTIZAE CTIERR L7 Komadal 7 9 ADY — A 32— K%&RT.

1  package syogi;

2

3  public class Komadai {

4

5 // 0:72L 1:& 2:4R

6

7 private int komadail[][] = new int[2][3];
8 private int teban;

9

10

11 public Komadai() {

12 [/ EMEEEICHIE AW
13 for(int i=0;i<2;i++) {

18



14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53

for(int j=0;j<3;j++) {
komadail[i] [j] = O;

public Komadai(int[][] komadai) {

this.komadai=komadai;

public void setKomadai(int i, int teban) {

komadai[teban] [i]+= 1;

public void settingKomadai(int[][] komadai) {

this.komadai =komadai;

public void deleateKomadai(int i, int teban) {
komadai[teban] [i]-= 1;

public void resetKomadai() {
for(int i=0;i<2;i++) {

for(int j=0;j<3;j++) {
komadai[i] [j] = 0;

public int[][] getKomadai(){

return komadai;

19



54
55

LRIz AR TERR LU 7z NextMove 7 9 ADY — A 32— K& R7.

© 00 N O Ot ke W N

10
11
12
13
14
HHEDSH
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35

package syogi;

public class NextMove {

/] FEFOR BEFE

final static int GYOKU = 1; // £
final static int KIN = 2; // &
final static int GIN = 3; // %R

// BFOH BEmRE

final static int E_GYOKU = -1; // £
final static int E_KIN = -2; // &
-3; // R

final static int E_GIN

final static boolean isChessStyleScore = false; // HERENSF = ANE

int type; // BDIELH

int nextFile; // BEN:ED X ERER

int nextRank; // BEED Y EZ

int value; // %EL 72356 OEREOTEE

VAL

*x AVANS U4

* Qparam int type SHDIEFE

* @param int nextFile MEILD X ERZE

* Qparam int nextRank BN D Y EEE

*/

public NextMove(int type, int nextFile, int nextRank) {
this.type = type;
this.nextFile = nextFile;

this.nextRank = nextRank;

VLS
* BDFEFEEIRY
* Qreturn HOIDIELE

20



36 */

37 public int type() {

38 return type;

39 b

40

41 /**

42 * BENED X BEiR%RY

43 * Q@return HENED X BIFE
44 */

45 public int nextFile() {
46 return nextFile;
47 b

48

49 /%%

50 * RBENED Y BEIR%ZRY

51 * Qreturn FMENFLD Y EIE
52 */

53 public int nextRank() {
54 return nextRank;
55 }

56}

57

AR IZ A TIERL L 72 Board 7 9 ADY — 23— K& /;R7.
1 package syogi;
import java.util.ArrayList;

3
4
5 public class Board {

g // EF0B BEFAE
8

9

final static int GYOKU = 1; // E
final static int KIN = 2; // &
final static int GIN = 3; // $R
10
11 // HBFOF BER
12 final static int E_GYOKU = -1; // E
13 final static int E_KIN = -2; // &
%g final static int E_GIN = -3; // R
16 final static int EMPTY = 0; // %A
17 final static int BORDER = Integer.MAX_VALUE; // 844
18 final static boolean isChessStyleScore = false; // MR % F = ARXHIFHAH,
19
20 // SHBE
21 public int[][] board = {
22 {BORDER, BORDER, BORDER, BORDER, BORDER, BORDER},
23 {BORDER, EMPTY, E_GIN, E_KIN, E_GYOKU, BORDER},
24 {BORDER, EMPTY, EMPTY, EMPTY, EMPTY, BORDER},
25 {BORDER, EMPTY, EMPTY, EMPTY, EMPTY, BORDER},
26 {BORDER, GYOKU, KIN, GIN, EMPTY, BORDER},
%'87 {BORDER, BORDER, BORDER, BORDER, BORDER, BORDER}
};
29 int nextFile; // HEN%D X EZ
g(l) int nextRank; // BE)ED Y EZ

21



// 5

Piece gyoku, kin, gin, e_gyoku, e_kin, e_gin;
ArrayList<NextMove> movableList; // {RHFDY R K

private int[] board_i = new int [7]; // BEDER
private int value; // B9%H->LBOEHEERTER

Komadai komadai; // #FHEADHEDER

/*

* AVAKNZU%
* BIDHEARE
*/

public Board() {

/] BADAVRE Y RER
gyoku = new Piece(GYOKU);

kin
gin

= ne
= ne
e_gyoku
e_kin =
e_gin =
/! BE%E
komadai

}

/*x

* AVAKNZ9%

* BEICHEZRE

* Qparam int[][

*/

public Board(int
// BE%E

for(int

}

w Piece(KIN)
w Piece(GIN)

= new Piece(
new Piece(E_
new Piece(E_

35

E_GYOKU) ;

KIN) ;
GIN) ;

= new Komadai();

] board BME

[J0] board)
BHTD

i=1;1i<=

{

4; ++i) {

for(int j = 1; j <= 4; ++j) {
this.board[i] [j] = board[il[j];

}

/] BEICHDIHEBERT D

for(int i = 1; i <= 4; ++i) {

for(int j = 1; j <= 4; ++j) {
switch(board[i] [j1) {

}
/! BE%E
komadai

}

/xx
* AVAKNZV%

case

case

case

case

case

case

}
354

GYOKU:

gyoku = new Piece(GYOKU, j, i);

break;
KIN:

kin = new

break;
GIN:

gin = new

break;
E_GYOKU:

e_gyoku =

break;
E_KIN:

Piece(KIN, j, i);

Piece(GIN, j, i);

new Piece(E_GYOKU, j, i);

e_kin = new Piece(E_KIN, j, i);

break;
E_GIN:

e_gin = new Piece(E_GIN, j, i);

break;

= new Komadai();

* BEICHZEE AICH%EEM

* Qparam int[][
*/

1 board #M

public Board(int[]J[] board, int[][] komadai) {

// BE%E

BHIS

for(int i = 1; i <= 4; ++i) {
1; j <= 4; ++j) {
this.board[i] [j] = board[il[j];

for(int j =

22



109 }

110 }

111 // BEICHDIHEBERT D

112 for(int i = 1; i <= 4; ++i) {

113 for(int j = 1; j <= 4; ++j) {

114 switch(board[i] [j1) {

115 case GYOKU:

116 gyoku = new Piece(GYOKU, j, i);
117 break;

118 case KIN:

119 kin = new Piece(KIN, j, i);
120 break;

121 case GIN:

122 gin = new Piece(GIN, j, i);
123 break;

124 case E_GYOKU:

125 e_gyoku = new Piece(E_GYOKU, j, i);

126 break;

127 case E_KIN:

128 e_kin = new Piece(E_KIN, j, i);
129 break;

130 case E_GIN:

131 e_gin = new Piece(E_GIN, j, i);
132 break;

133 }

134 }

135 }

136 /! BBEER

137 this.komadai = new Komadai(komadai);

138 }

140 public void resetBoard() {

141 for(int i = 1; i <= 4; ++i) {

142 for(int j = 1; j <= 4; ++j) {
143 this.board[i]l [j] = EMPTY;
144 }

148 /*x

149 *

150 * @param p

151 * Qparam teban 5%£F 0 #HF 1

152 */

153 public void setKomadai(Piece p,int teban) {
154 int i = 0

156 if (p.type() == KIN) {

157 i=1;

158 Yelse if (p.type() == GIN) {
159 i=2;

160 }

163 komadai.setKomadai(i, teban);
165 ¥

167 public void settingKomadai(int[][] komadai) {
168 this.komadai.settingKomadai(komadai) ;

169 }

171 public void deleateKomadai(Piece p,int teban) {
172 int i = 0;

174 if (p.type() == KIN) {

175 i=1;

176 Yelse if (p.type() == GIN) {
177 i=2;

178 }

181 komadai.deleateKomadai(i, teban);

183 }
184 public void resetKomadai() {

186 komadai.resetKomadai() ;

23



}

public void showKomadai() {
System.out.print ("%&F");
for(int j = 0; j < 3; ++j) {

System.out.print (getKomadai () [0] [j]);

}

System.out.print ("#&F");
for(int j = 0; j < 3; ++j) {

System.out.print (getKomadai() [1]1[j]1);

}

System.out.println();

public void setPiece(Piece p, int y, int x) {
this.board[y] [x] = p.type;

p.setOnBoard() ;

public void deleatePiece(Piece p, int y, int x) {

if (this.board[y] [x] == p.type) {
this.board[y] [x] = EMPTY;
p.removeFromBoard() ;

public void emptyPiece(int y, int x) {
this.board[y] [x] = EMPTY;

public int[][] getBorad() {
return this.board;

public int[J[] getKomadai() {
return this.komadai.getKomadai();

public ArrayList<NextMove> getMovableList(){
return movableList;

public int getValue() {
return value;

* WEERRY D
*/
public void showBoard()

{

System.out.println("
for(int i = 0; i < board.length; ++i) {
switch(i) {

case O:

case 1:

case 2:

case 3:

case 4:

case 5:

System.

break;

System.

break;

System.

break;

System.

break;

System.

break;

System.

break;

1234 ");

out.print ("

out.print ("—

out.print("Z

out.print("=

out.print ("M

out.print ("
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}

for(int j = 0; j < board[i].length; ++j) {
System.out.print (showPiece(board[i]l [j1));

}
System.out.println();

}

/%%
* BERRY D
* Qparam type BDELE
* Qreturn BIDXFF
*/
public String showPiece(int type) {
switch(type) {
case GYOKU:
return "E";
case KIN:
return "£";
case GIN:
return "$R";

case E_GYOKU:
return "H";

case E_KIN:
return "&";
case E_GIN:
return "E";
case EMPTY:
return " ";
case BORDER:
return " H";
default:
return "7";
}
}
/*x
* BEOSOH
* Qreturn
*/
public int kinNumber() {
int x=0;
for(int i = 0; i < 4; ++i) {
for(int j = 0; j < 4; ++j) {
if (board[i+1] [j+1] == KIN) {
X++;
}
}
}
return x;
}
/**
* BBEOD e_£ D
* Q@return
*/
public int e_kinNumber() {
int x=0;
for(int i = 0; i < 4; ++i) {
for(int j = 0; j < 4; ++j) {
if (board[i+1] [j+1] == E_KIN) {
X++;
}
}
}
return x;
}
/*x
* BREDIROE
* Qreturn
*/
public int ginNumber() {
int x=0;

for(int i = 0; i < 4; ++i) {
for(int j = 0; j < 4; ++j) {

if (board[i+1] [j+1] == GIN) {

X++;

}
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}

/**

}
}

return x;

* BED e RO

* Qreturn

*/

public int e_ginNumber() {

}
/*x
*

int x=0;

for(int i = 0; i < 4; ++i) {

for(int j = 0; j < 4; ++j) {
if (board[i+1] [j+1] == E_GIN) {

X++;

}
}
}

return x;

* board NOMEA KT 16 EHD 7 HOBFERT

*/

public int madeIndex() {

// EDOMBETERKR
for(int i =1;i<5;i++) {

if (gyoku.file() == i

board_i[0]
}
}

for(int i = 1;i<5;i++) {

if (gyoku.file() == i

board_i [0]
}
¥

for(int i =1;i<5;i++) {

if (gyoku.file() == i

board_i[0]
}
}

for(int i =1;i<5;i++) {

if (gyoku.file() == i

board_i [0]
}
}
// e-EDMIBETEMK
for(int i =1;i<5;i++) {

if (e_gyoku.file() ==

&& gyoku.

i-1;

&& gyoku.
= i+3;

&& gyoku.
= i+7;

&& gyoku.

i+11;

i && e_gyoku.rank()

board_i[1] = i-

}
}

for(int i = 1;i<5;i++) {

if(e_gyoku.file() ==
board_i[1] =

}
}

for(int i =1;i<5;i++) {

if (e_gyoku.file() ==
board_i[1] =

}
}

for(int i =1;i<5;i++) {

if (e_gyoku.file() ==
board_i[1] =

}
}

i && e_gyoku.rank()

i+3;

i && e_gyoku.rank()

i+7;

i && e_gyoku.rank()

i+11;

rank ()

rank ()

rank() =

rank ()

String kin ="00"; // £DHZDOEFEFHOHE
String gin ="00"; // SROBWHDEFEFHOHE

// kin P2 D EE
if (kinNumber ()== 2) {
int k=0;

for(int i =1;i<5;i++) {
for(int j =1;j<5;j++) {

if (board[i] [j] == KIN) {
if (k==

Fif (k=
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0) {

board_i[2] = (i-1)*4 + j-1;

=1) {

4) {



k++;

}
}
kin = "00";
}

// ekin ' 2RDEE
if (e_kinNumber == 2) {
int k=0;
for(int i =1;i<5;i++) {
for(int j =1;j<5;j++) {

if (board[i] [j] == E_KIN) {

board_il[3] = (i-1)*4 + j-1;

if (k==0) {
board_i[2]
Yif(k==1) {
board_i[3]
}
k++;
}
}
¥
kin = "11";

}
// e_kin, kin ' 1 D& F
if (e_kinNumber ()== 1 && e_kinNumber()==
for(int i =1;i<5;i++) {
for(int j =1;j<5;j++) {

1 {

if (board[i] [j] == KIN) {
board_i[2] = (i-1)*4 + j-1;

}
if (board[i] [j] == E_KIN) {

(i-1)%4 + j-1;

(i-1)*4 + j-1;

board_i[3] = (i-1)*4 + j-1;

¥
}
}
kin = "01";
¥

// kin M1 D& ZE

if (kinNumber ()== 1 && e_kinNumber()== 0) {

for(int i =1;i<5;i++) {
for(int j =1;j<5;j++) {

if (board[il[j] =

= KIN) {

board_i[2] = (i-1)*4 + j-1;

}
}
}
kin = "00";
}
// ekin 1 DL E

if (kinNumber ()== 0 && e_kinNumber()== 1) {

for(int i =1;i<5;i++) {
for(int j =1;j<5;j++) {

if (board[i] [j] == E_KIN) {

board_i[2] = (i-1)*4 + j-1;

}
}
}
kin = "10";

}
// gin 2D EE
if (ginNumber O== 2) {
int k=0;
for(int i =1;i<5;i++) {
for(int j =1;j<5;j++) {

if (board[i]l [j] == GIN) {

if (k==0) {
board_i[4]

Yif(k==1) {
board_i [5]
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(i-1)%4 + j-1;

(i-1)*4 + j-1;



k++;

}
}
gin = "00";
}

// e_gin 2D & E
if (e_ginNumber Q== 2) {
int k=0;
for(int i =1;i<5;i++) {
for(int j =1;j<5;j++) {
if (board[i] [j] == E_KIN) {

if (k==0) {
board_i[4] = (i-1)*4 + j-1;
Fif(k==1) {
board_i[5] = (i-1)*4 + j-1;
}
k++;
}
}
}
gin = "11";

}
// e_gin, gin ' 1 WD EE
if (e_ginNumber ()== 1 && e_ginNumber()== 1) {
for(int i =1;i<5;i++) {
for(int j =1;j<5;j++) {
if (board[i]l [j] == GIN) {
board_i[4] = (i-1)*4 + j-1;
}
if (board[i] [j] == E_GIN) {
board_i[5] = (i-1)*4 + j-1;
}
}
}
gin = "01";
}

// gin M1 RDEE
if (ginNumber ()== 1 && e_ginNumber()== 0) {
for(int i =1;i<5;i++) {
for(int j =1;j<5;j++) {
if (board[i]l [j] == GIN) {
board_i[4] = (i-1)*4 + j-1;
}
}
¥
gin = "00";
¥
// e_gin N 1 D E =
if (ginNumber ()== 0 && e_ginNumber()== 1) {
for(int i =1;i<5;i++) {
for(int j =1;j<5;j++) {
if (board[i]l [j] == E_GIN) {
board_i[4] = (i-1)*4 + j-1;

}
¥
}
gin = "10";
}
String kingin = kin+gin;
// System.out.println(kingin) ;

int kinginl = Integer.parselnt(kingin, 2);
// System.out.println(kinginl);

// kin e-kin
if (getKomadai() [0][1] == 1 && getKomadai() [1][1] == 1) {
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board_i[2] = board_i[0];
board_i[3] = board_i[1];

Yelse if(getKomadai() [0]1[1] == 1) {

board_i[3] = board_i[0];

}else if(getKomadai() [1][1] == 1) {

board_i[3] = board_i[1];
}

// gin e-gin

if (getKomadai () [0] [2] == 1 && getKomadai() [1]1[2] == 1) {

board_i[4] = board_i[0];
board_i[5] = board_i[1];

}else if(getKomadai() [0][2] == 1) {

board_i[5] = board_i[0];

}else if(getKomadai()[1][2] == 1) {

board_i[5] = board_i[1];
}

/! EFOLOELH

if (getKomadai () [0][1] == 2) {
board_i[2] = board_i[0];
board_i[3] = board_i[0];

}

/] EFOROFLE

if (getKomadai() [0][2] == 2) {

board_i[4] = board_i[0];

board_i[5] = board_il[0];

}

/! BFOEDOR/LEH

if (getKomadai () [11[1] == 2) {
board_i[2] = board_i[1];
board_i[3] = board_i[1];

}

/] BFOROFELE

if (getKomadai() [1]1[2] == 2) {
board_i[4] = board_i[1];
board_i[5] = board_il1];

// 16 HEHT ArrayList ICfRTF
String bo = "";
for(int j = 0; j < 7; ++j) {
if (board_i[j] == 10) {
bo += ’a’;

}else if(board_i[j] == 11) {

bo += ’b’;

}else if(board_il[j] == 12) {

bo += ’c’;

Yelse if(board_il[j] == 13) {

bo += ’d’;

Yelse if(board_il[j] == 14) {

bo += ’e’;

Yelse if(board_il[j] == 15) {

bo += ’f’;
Yelse {

bo += String.valueOf (board_i[jl);

}

int i = Integer.parselnt(bo, 16);

return kinginl + i;
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/%%
* FEHDHE

* TOBETRAFIRFNIEEE
* Qparam int playerNum 7L 41 ¥—%S
* Qreturn FEHNE D H

*/

public boolean isMate(int playerNum) {
return (movableList.size() == 0);

}

public boolean isChecked(int playerNum) {
int file, rank;
if (playerNum == 0) {

Yelse {

}

/**

file = gyoku.file(); // EDEZ

rank = gyoku.rank();

//BHOBERTEDL SEFEEY

//E-&DS5DEF

if (board [rank] [file-1] == E_KIN) return true; // ENSDEF

else if (board [rank-1][file-1] == E_KIN) return true; // EENLDEF
else if (board [rank-1][file] == E_KIN) return true; // LEHSDEF
else if (board [rank-1][file+1] == E_KIN) return true; // BELHNSDEF
else if (board [rank] [file+1] == E_KIN) return true; // GHO5DEF
else if (board [rank+1] [file] == E_KIN) return true; // FHHLODEF

// E-SROLDEF

else if (board [rank-1][file-1] == E_GIN) return true; // ZLHNSDEF
else if (board [rank-1][file] == E_GIN) return true; // EHDSDEF
else if (board [rank-1] [file+1] == E_GIN) return true; // BELEHNSDEF
else if (board [rank+1] [file+1] == E_GIN) return true; // EFHNLDEF
else if (board [rank+1][file-1] == E_GIN) return true; // ZEFHNLDEF
else return false;

file = e_gyoku.file(); // E-EDEE

rank = e_gyoku.rank();

//B5DFER

//& BDOSDEF

if (board [rank] [file-1] == KIN) return true; // EHNSLDEF

else if (board [rank-1][file] == KIN) return true; // EHSDEF
else if (board [rank] [file+1] == KIN) return true; // GHSDEF
else if (board [rank+1] [file+1] == KIN) return true; // B FHLDEF
else if (board [rank+1][file] == KIN) return true; // FHSDEF
else if (board [rank+1][file-1] == KIN) return true; // EFHLDEF
/] BHHOEF

else if (board [rank-1][file-1] == GIN) return true; // ZLHLDEF
else if (board [rank-1][file] == GIN) return true; // EHSDEF
else if (board [rank-1][file+1] == GIN) return true; // BELHLDEF
else if (board [rank+1][file+1] == GIN) return true; // B FHLDEF
else if (board [rank+1][file-1] == GIN) return true; // EFHSDEF

else return false;

* BIRBHROHNSDEFOHE

* @param playerNum

* Qreturn

*/

public boolean ismultyChecked(int playerNum) {
int file, rank;
if (playerNum == 0) {

MS5D e-kin £TD e-gin EF

file = gyoku.file(); // EDELZE

rank = gyoku.rank();

//BHOBERTEDL SEFEEY

//E-&DSDEF

if (board [rank][file-1] == E_KIN && (board [rank-1][file-1] == E_GIN

|l board [rank-1][file] == E_GIN || board [rank-1][file+1] == E_GIN

|| board [rank+1] [file+1] == E_GIN || board [rank+1][file-1] == E_GIN)) return true; // %&

else if (board [rank-1][file-1] == E_KIN && (board [rank-1][file] == E_GIN
|| board [rank-1][file+1] == E_GIN || board [rank+1][file+1] == E_GIN

|| board [rank+1][file-1] == E_GIN)) return true; // AZEHNSDLTD e-gin EF
else if (board [rank-1][file] == E_KIN &&(board [rank-1][file-1] == E_GIN

|| board [rank-1][file+1] == E_GIN || board [rank+1][file+1] == E_GIN

|| board [rank+1][file-1] == E_GIN)) return true; // EHSLDETD e-gin EF
else if (board [rank-1] [file+1] == E_KIN && (board [rank-1][file-1] == E_GIN
|| board [rank-1][file] == E_GIN || board [rank+1] [file+1] == E_GIN

|| board [rank+1][file-1] == E_GIN)) return true; // ALEHNSDEF
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EHNSDEF

NEDEF
763
764

Yelse {

else if (board [rank] [file+1] == E_KIN && (board [rank-1][file-1] == E_GIN
|| board [rank-1][file] == E_GIN || board [rank-1][file+1] == E_GIN

|| board [rank+1] [file+1] == E_GIN || board [rank+1][file-1] == E_GIN)) return true; // A

else if (board [rank+1][file] == E_KIN && (board [rank-1][file-1] == E_GIN
|| board [rank-1][file] == E_GIN || board [rank-1] [file+1] == E_GIN

|| board [rank+1] [file+1] == E_GIN || board [rank+1][file-1] == E_GIN)) return true; //

// E-SBh5DEF

else if (board [rank-1][file-1] == E_GIN && (board [rank] [file-1] == E_KIN
|l board [rank-1][file] == E_KIN || board [rank-1][file+1] == E_KIN

|| board [rank] [file+1] == E_KIN || board [rank+1][file] == E_KIN)) return

else if (board [rank-1][file] == E_GIN && (board [rank] [file-1] == E_KIN
|| board [rank-1][file-1] == E_KIN || board [rank-1][file+1] == E_KIN
|| board [rank][file+1] == E_KIN || board [rank+1][file] == E_KIN)) return

else if (board [rank-1][file+1] == E_GIN && (board [rank][file-1] == E_KIN
|| board [rank-1][file-1] == E_KIN || board [rank-1][file] == E_KIN
|| board [rank][file+1] == E_KIN || board [rank+1][file] == E_KIN)) return

true; // &

true; // Lt

true; // A

else if (board [rank+1][file+1] == E_GIN && (board [rank-1][file+1] == E_KIN

|l board [rank] [file-1] == E_KIN || board [rank-1][file-1] == E_KIN
|l board [rank-1][file] == E_KIN || board [rank][file+1] == E_KIN
|| board [rank+1][file] == E_KIN)) return true; // AFHNHLDEF
else if (board [rank+1] [file-1] == E_GIN && (board [rank-1][file+1]
|| board [rank][file-1] == E_KIN || board [rank-1][file-1] == E_KIN
|| board [rank-1][file] == E_KIN || board [rank][file+1] == E_KIN
|| board [rank+1][file] == E_KIN)) return true; // ZEFHNLDEF
else return false;

file = e_gyoku.file(); // E-EDERE

rank = e_gyoku.rank();

//BHDOEHRR

//& BDODEF

if (board [rank] [file-1] == KIN && (board [rank-1][file-1] == GIN

|| board [rank-1]([file] == GIN || board [rank-1][file+1] == GIN

|| board [rank+1][file+1] == GIN || board [rank+1][file-1] == GIN)) return

else if (board [rank-1][file] == KIN && (board [rank-1] [file-1] == GIN

|| board [rank-1][file+1] == GIN || board [rank+1] [file+1] == GIN

|| board [rank+1][file-1] == GIN)) return true; // ENLDEF

else if (board [rank] [file+1] == KIN || (board [rank-1][file-1] == GIN

|| board [rank-1][file] == GIN || board [rank-1][file+1] == GIN

|| board [rank+1][file+1] == GIN || board [rank+1] [file-1] == GIN)) return

else if (board [rank+1][file+1] == KIN && (board [rank-1][file-1] == GIN
|| board [rank-1][file] == GIN || board [rank-1][file+1] == GIN

|| board [rank+1] [file-1] == GIN)) return true; // AFHALDEZF

else if (board [rank+1][file] == KIN && (board [rank-1] [file-1] == GIN

|| board [rank-1][file] == GIN || board [rank-1][file+1] == GIN

|| board [rank+1][file+1] == GIN || board [rank+1][file-1] == GIN)) return

else if (board [rank+1][file-1] == KIN && (board [rank-1][file-1] == GIN
|| board [rank-1][file] == GIN || board [rank-1] [file+1] == GIN

|| board [rank+1][file+1] == GIN )) return true; // EFHSLDEF

/] SBhHOEF

else if (board [rank-1][file-1] == GIN && (board [rank] [file-1] == KIN
|| board [rank-1][file] == KIN || board [rank][file+1] == KIN

|| board [rank+1] [file+1] == KIN || board [rank+1] [file] == KIN

|| board [rank+1] [file-1] == KIN)) return true; // EENSLDEF

else if (board [rank-1][file] == GIN && (board [rank] [file-1] == KIN

= E_KIN

true; // k&

true; // A

true; // F

|| board [rank][file+1] == KIN || board [rank+1][file+1] == KIN || board [rank+1][file]

|| board [rank+1] [file-1] == KIN)) return true; // EHSDEF

else if (board [rank-1][file+1] == GIN && (board [rank][file-1] == KIN
|| board [rank-1][file] == KIN || board [rank][file+1] == KIN

|| board [rank+1][file+1] == KIN || board [rank+1][file] == KIN

|| board [rank+1] [file-1] == KIN)) return true; // ALEHNLDEF

else if (board [rank+1] [file+1] == GIN && (board [rank][file-1] == KIN
|| board [rank-1]([file] == KIN || board [rank][file+1] == KIN

|l board [rank+1][file] == KIN || board [rank+1] [file-1] == KIN)) return true; // & F

else if (board [rank+1][file-1] == GIN && (board [rank][file-1] == KIN
|| board [rank-1][file] == KIN || board [rank] [file+1] == KIN

|| board [rank+1][file+1] == KIN || board [rank+1][file] == KIN )) return true; // & F
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else return false;

}

/*x
* [EEFOIEM
* movableList I(CHENTREAFARET S
* Q@param int playerNum FL A v¥—&FS
*/
public void createMovableList(int playerNum) {
movableList = new ArrayList<>();
if (playerNum == 0) { // %FDHAE
if (gyoku != null) { // BEAKENH2HE
movableList.addAll (gyoku.movableList (board)); // EABEIAIAELTF
}
if(kin != null) { // BEICS,H 2546
movableList.addAll (kin.movableList(board)); //&H»BEIREELF
}
if(gin !'= null) { // BEICRIH 256
movableList.addAll (gin.movableList(board)); //$RHD\FENAIAEIRTF
}

if (isChecked(0)) { // EILEFHIEN>TVBIHE
for(int i = 0; i < movableList.size();) {
Board nextBoard = nextBoard(movableList.get(i), playerNum);
if (nextBoard.isChecked(0)) { // BEIRICEFIEHN > TWVWDIHFE
movableList.remove(i); // BEBRTEFICHN > TWEFEHIKRT S
Yelse {
++i;
}
}

}
Yelse { // BFDHA
if (e_gyoku != null) { // ®EIC E-EA'H25HE
movableList.addAll (e_gyoku.movableList (board)); // E-ENBENAEELF
}
if(e_kin != null) { // BEK E-&1'H 256
movableList.addAll (e_kin.movableList(board)); // E-&ABEAAELF
¥
if(e_gin !'= null) { // ®EIC E-8{1'H2%HE
movableList.addAll (e_gin.movableList(board)); // E-$RHO'BENRIAEZLF
}

if (isChecked(1)) { // E-EILEFIHEH,>TVWBHE
for(int i = 0; i < movableList.size();) {
Board nextBoard = nextBoard(movableList.get (i), playerNum) ;
if (nextBoard.isChecked(1)) { // BEMERICEFIHEHI > TVWDHE
movableList.remove(i); // BEIKRTEFICHN > TWVWIFEHIKRT S
Yelse {
++i;

}

}

public Board nextBoard(NextMove nextMove, int playerNum) {
Board nextBoard = new Board (board);
int movingType = nextMove.type(); // BET 2HDELE
Piece movingPiece = null; // %E1¥ 255
// BESBHERETS D
switch (movingType) {
case GYOKU :
movingPiece = nextBoard.gyoku;
break;
case KIN :
movingPiece = nextBoard.kin;
break;
case GIN :
movingPiece = nextBoard.gin;
break;
case E_GYOKU :
movingPiece = nextBoard.e_gyoku;
break;
case E_KIN :
movingPiece = nextBoard.e_kin;
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875 break;

876 case E_GIN :

877 movingPiece = nextBoard.e_gin;

878 break;

879 ¥

880 //int currentFile = movingPiece.file(); // BENT 2HDIRWED X FEEAZ

881 //int currentRank = movingPiece.rank(); // %EIYT Z2HDIRED X EF

882 int nextFile = nextMove.nextFile(); // BE%D X EZ

883 int nextRank = nextMove.nextRank(); // BEN&XD Y EEEZE

884 nextBoard.movePiece (movingPiece, movingType, nextFile, nextRank); // BABEIt 2

885 return nextBoard;

886 ¥

887 /%%

888 * BE%[EdAD nevtBoard

889 * @param nextMove

890 * @param playerNum

891 * Qreturn

892 */

893 public Board nextBoardl(NextMove nextMove, int [][] komadai) {

894 Board nextBoard = new Board (board,komadai);

895 int movingType = nextMove.type(); // BET 2HDELE

896 Piece movingPiece = null; // %E1¥ 255

897 // BEYDHERET D

898 switch (movingType) {

899 case GYOKU :

900 movingPiece = nextBoard.gyoku;

901 break;

902 case KIN :

903 movingPiece = nextBoard.kin;

904 break;

905 case GIN :

906 movingPiece = nextBoard.gin;

907 break;

908 case E_GYOKU :

909 movingPiece = nextBoard.e_gyoku;

910 break;

911 case E_KIN :

912 movingPiece = nextBoard.e_kin;

913 break;

914 case E_GIN :

915 movingPiece = nextBoard.e_gin;

916 break;

917 ¥

918 //int currentFile = movingPiece.file(); // ®ENT Z2BIDIRED X EE

919 //int currentRank = movingPiece.rank(); // %ENT ZHDIRIED X EEAZE

920 int nextFile = nextMove.nextFile(); // BE%D X EZ

921 int nextRank = nextMove.nextRank(); // BE&XD Y EEEZE

922 nextBoard.movePiece (movingPiece, movingType, nextFile, nextRank); // BI%BEIH 3

923 return nextBoard;

924

925 ¥

926

927

928 /%

929 * BELEAMBICHEBHE, #HE%RYT

930 * Qparam Piece piece BENIE 25

931 * Qparam int type BE)EH 2HDER

932 * Qparam int nextFile WMEIED X EE

933 * Qparam int nextRank WMEIED Y HEE

934 * Q@param int playerNum 7L 1 ¥—&FS

935 */

936 public void movePiece(Piece piece, int type, int nextFile, int nextRank) {

937

938 if (board[nextRank] [nextFilel != EMPTY) { // BE%EICENH2IHE

8?1(9) removePiece (nextFile, nextRank); // B#E%&ICH DEEE R
}

941 board[piece.rank()] [piece.file()] = EMPTY; // BERIOYRZZERHIC

942 piece.move (nextFile, nextRank); // B%#&E

943 board[piece.rank()] [piece.file()] = type; // BEIED Y REIEE L 75IC

944

945

946 }

947

948 public void removePiece(int nextFile, int nextRank) {

949 switch (board [nextRank] [nextFile]) {

950 case GYOKU : // ®Eh%kICE

951 gyoku = null; // E&EYKR<
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952 break;

953 case KIN : // BEEILE

954 kin = null; // & ZEYER<

955 komadai.setKomadai(1,1); // #%F e-2ORLHEE LT
956 value = 1;

957 break;

958 case GIN : // BEI%ICER

959 gin = null; // R ZERYKR<

960 komadai.setKomadai(2,1); // BF e-ROFHHEIECT
961 value = 2;

962 break;

963 case E_GYOKU : // BE)%kIC E-F

964 e_gyoku = null; // E-EZERYR<
965 break;

966 case EKIN : // BEI%IC E-&

967 e_kin = null; // E-& ZEYKR<
968 komadai.setKomadai(1,0); // %FEOFEHMEIEPL T
969 value = 3;

970 break;

971 case E_GIN : // BEi%IC E=iR

972 e_gin= null; // E-$RZERYFR<
973 komadai.setKomadai(2,0); // %&FROFTLHEELT
974 value = 4;

975 break;

976 ¥

977 ¥

978

979 7/ /*%

980 // * BEOREZRINICKRET S

981 // */

982 // public void recordBoard() {

983 // if (moves + lookAheadMoves < maxMove) {
984 // for (int r=0; r<4; ++r) {

985 // for (int £=0; f<4; ++f) {
986 // boardRecord [moves + lookAheadMoves] [r] [f] = board[r+1] [f+1];
987 1/ }

988 7/ }

989 /7 }

990 /v }

991

992

993

994

995

996

997

998

999  // /%

1000 /7 * FHEVEY RNTD

1001 /7 */

1002 // public void resetMoves() {

1003 /7 moves = 0;

1004 // lookAheadMoves = 0;

1005 7/ ¥

1006

1007 /7 /%%

1008 7/ * EFTAEDRE

1009 /7 */

1010 /7 public void setMaxDepth(int depth) {

1011 /7 this.maxDepth = depth;

1012 /7 }

1013

1014 /7 /%

1015 7/ * BEOESEIRY

1016 7/ * KFHL:1, BFBL:-1, BIEHIF:0

1017 7/ * Creturn BEOES

1018 /7 */

1019 // public int winner() {

1020 // return winner;

1021 /7 }

1022 3

1023

PAR Iz AHF 72 THERR U 72 Kyokumen 27 5 AD Y — A3 — R &RT.

1 package syogi;
2
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public class Kyokumen {

// FEFOH BEFA

final static int GYOKU = 1;
final static int KIN = 2; // &
final static int GIN = 3; /

// BFOFH BER

final static int E_GYOKU = 4; // E
final static int E_KIN = 5; // &
final static int E_GIN = 6; // R

final static int EMPTY = 0; // 2R
final static int BORDER = Integer.MAX_VALUE; // 8%
//BEERYT TEILLME % 16 EROD 6 HITRT

SMOPAELEERRORFTRY #HESE C3D2E1A

// REEE O %FEH 1 BFHS 2 Bl&91F 3 FETRE4
static byte[] aaa = new byte [536870912]; // BHEHA

// SEEE
public int[J[] boardx= {

};

private

private
private
private

/5

{BORDER, BORDER, BORDER, BORDER, BORDER, BORDER},
{BORDER, EMPTY, EMPTY, EMPTY, EMPTY, BORDER},
{BORDER, EMPTY, EMPTY, EMPTY, EMPTY, BORDER},
{BORDER, EMPTY, EMPTY, EMPTY, EMPTY, BORDER},
{BORDER, EMPTY, EMPTY, EMPTY, EMPTY, BORDER},
{BORDER, BORDER, BORDER, BORDER, BORDER, BORDER}

int[] board_i = new int [7]; // BEDOER

Board bo;
int teban; // teban O¥F E£F 0%F 1
int undecided,win,loss,draw,no; // KHEE, b, B, BIEoF, BETEORBEEK

Piece gyoku, kin, gin, e_gyoku, e_kin, e_gin;
Piece piece, kinl, kin2, ginl, gin2 = null;

/*

* AVAKNZ 0%
*  BIDFERE

*/

public Kyokumen() {

for(int i=0;i<board_i.length;i++) {
board_i[i]=0;
}

bo = new Board(boardx);
/] BADA YV RE Y RER
gyoku = new Piece(1);
kin = new Piece(2);
gin = new Piece(3);

e_gyoku = new Piece(-1);

e_kin = new Piece(-2);
e_gin = new Piece(-3);
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82 /*%

83 * 2RO\HAEDEEEY b

84 * @param board

85 */

86 public void setKinGin(int board) {

87

88 1f (268435456 <= board) {

89 board -= 268435456;

90 }

91

92 String formatStr = String.format("%07x", board); // 7THICHKZ2£T% 0iED%T 3
93 // 0000

94 if (Character.getNumericValue (formatStr.charAt(6)) == 0) {

95 kinl = kin;

96 kin2 = kin;

97 ginl = gin;

98 gin2 = gin;

99 // 0001

100 }else if(Character.getNumericValue(formatStr.charAt(6)) == 1) {
101 kinl = kin;

102 kin2 = kin;

103 ginl = gin;

104 gin2 = e_gin;

105 // 0010

106 }else if(Character.getNumericValue(formatStr.charAt(6)) == 2) {
107 kinl = kin;

108 kin2 = kin;

109 ginl = e_gin;

110 gin2 = gin;

111 // 0011

112 }else if(Character.getNumericValue(formatStr.charAt(6)) == 3) {
113 kinl = e_kin;

114 kin2 = e_kin;

115 ginl = gin;

116 gin2 = gin;

117 // 0100

118 }else if(Character.getNumericValue(formatStr.charAt(6)) == 4) {
119 kinl = kin;

120 kin2 = e_kin;

121 ginl = gin;

122 gin2 = gin;

123 // 0101

124 }else if(Character.getNumericValue(formatStr.charAt(6)) == 5) {
125 kinl = kin;

126 kin2 = e_kin;

127 ginl = gin;

128 gin2 = e_gin;

129 // 0110

130 }else if(Character.getNumericValue(formatStr.charAt(6)) == 6) {
131 kinl = kin;

132 kin2 = e_kin;

133 ginl = e_gin;

134 gin2 = gin;

135 // 0111

136 }else if(Character.getNumericValue(formatStr.charAt(6)) == 7) {
137 kinl = kin;

138 kin2 = e_kin;

139 ginl = e_gin;

140 gin2 = e_gin;

141 // 1000

142 }else if(Character.getNumericValue(formatStr.charAt(6)) == 8) {
143 kinl = e_kin;

144 kin2 = kin;

145 ginl = gin;

146 gin2 = gin;

147 // 1001

148 }else if(Character.getNumericValue(formatStr.charAt(6)) == 9) {
149 kinl = e_kin;

150 kin2 = kin;

151 ginl = gin;

152 gin2 = e_gin;

153 // 1010

154 }else if (formatStr.charAt(6) == ’a’) {

155 kinl = e_kin;

156 kin2 = kin;

157 ginl = e_gin;
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gin2 = gin;

// 1011

}else if (formatStr.charAt(6) == ’b’) {
kinl = e_kin;
kin2 = kin;
ginl = e_gin;
gin2 = e_gin;
// 1100

}else if (formatStr.charAt(6) == ’c’) {
kinl = e_kin;
kin2 = e_kin;
ginl = gin;
gin2 = gin;
// 1101

}Yelse if (formatStr.charAt(6) == ’d’) {
kinl = e_kin;
kin2 = e_kin;
ginl = gin;
gin2 = e_gin;
// 1110

}else if (formatStr.charAt(6) == ’e’) {
kinl = e_kin;
kin2 = e_kin;
ginl = e_gin;
gin2 = gin;
// 1111

}else if (formatStr.charAt(6) == ’£’) {
kinl = e_kin;
kin2 = e_kin;
ginl = e_gin;
gin2 = e_gin;

}

}
/*x

* 7 HID 16 EHH S board &AL
* @param board
* Qreturn
*/
public void madeBoard(int board) {

// BFBOBEER

if (268435456 <= board) {
board -= 268435456;
teban = 1;

}

String formatStr = String.format("%07x", board); // 7THIICRZ2XT% 018H%T 3
bo.resetBoard(); // Board %4 RT empty IC

bo.resetKomadai(); // FIBDEEY &Y b

// BBRD 16 EBDETLB TN ThOXFHEFHOKREY 2. 0 £F5 1 %F5H § HHB/E o101

setKinGin(board) ;
// RBHPBEEEUCHBAALSHELHICT S

// kinl & kin2,ginl,gin2 BMESH
if (allMotigomacheck(board)) {
for (int i =0; i<2;i++) {
switch(i) {

case O:
piece = gyoku;
break;

case 1:
piece = e_gyoku;
break;

}

if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 1) {
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 2) {
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 3) {

bo.setPiece(piece, 1, 4);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 4) {
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235 bo.setPiece(piece, 2, 1);

236 }else if(Character.getNumericValue(formatStr.charAt(i)) =
237 bo.setPiece(piece, 2, 2);

238 }else if(Character.getNumericValue(formatStr.charAt(i)) =
239 bo.setPiece(piece, 2, 3);

240 }else if(Character.getNumericValue(formatStr.charAt(i)) =
241 bo.setPiece(piece, 2, 4);

242 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
243 bo.setPiece(piece, 3, 1);

244 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
245 bo.setPiece(piece, 3, 2);

246 }else if(formatStr.charAt(i) == ’a’) {

247 bo.setPiece(piece, 3, 3);

248 Yelse if (formatStr.charAt(i) == ’b’) {

249 bo.setPiece(piece, 3, 4);

250 Yelse if(formatStr.charAt(i) == ’c’) {

251 bo.setPiece(piece, 4, 1);

252 Yelse if(formatStr.charAt(i) == ’d’) {

253 bo.setPiece(piece, 4, 2);

254 }else if(formatStr.charAt(i) == ’e’) {

255 bo.setPiece(piece, 4, 3);

256 }else if (formatStr.charAt(i) == ’f’) {

257 bo.setPiece(piece, 4, 4);

258 }

259

260 ¥

261 // kinl & kin2,ginl ARFBH

262 }else if(kinlkin2giniCheck(board)) {

263 for (int i =0; i<2;i++) {

264 switch(i) {

265 case O:

266 piece = gyoku;

267 break;

268 case 1:

269 piece = e_gyoku;

270 break;

271 }

272 if (Character.getNumericValue(formatStr.charAt(i)) == 0) {
273 bo.setPiece(piece, 1, 1);

274 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
275 bo.setPiece(piece, 1, 2);

276 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
277 bo.setPiece(piece, 1, 3);

278 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
279 bo.setPiece(piece, 1, 4);

280 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
281 bo.setPiece(piece, 2, 1);

282 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
283 bo.setPiece(piece, 2, 2);

284 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
285 bo.setPiece(piece, 2, 3);

286 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
287 bo.setPiece(piece, 2, 4);

288 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
289 bo.setPiece(piece, 3, 1);

290 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
291 bo.setPiece(piece, 3, 2);

292 }Yelse if (formatStr.charAt(i) == ’a’) {

293 bo.setPiece(piece, 3, 3);

294 }Yelse if (formatStr.charAt(i) == ’b’) {

295 bo.setPiece(piece, 3, 4);

296 Yelse if (formatStr.charAt(i) == ’c’) {

297 bo.setPiece(piece, 4, 1);

298 }else if(formatStr.charAt(i) == ’d’) {

299 bo.setPiece(piece, 4, 2);

300 }Yelse if(formatStr.charAt(i) == ’e’) {

301 bo.setPiece(piece, 4, 3);

302 }else if (formatStr.charAt(i) == ’f’) {

303 bo.setPiece(piece, 4, 4);

304 }

305 }//gin2

306 for (int i =5; i<6;i++) {

307 switch(i) {

308 case b:

309 piece = gin2;

310 break;
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311
312
313
314
315
316
317
318
319
320
321
322
323
324
325
326
327
328
329
330
331
332
333
334
335
336
337
338
339
340
341
342
343
344
345
346
347
348

350
351
352

354
355
356
357
358
359
360
361
362
363
364
365
366
367
368
369
370
371
372
373
374
375
376
377
378
379
380
381
382
383
384
385
386

¥

if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}else if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}else if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);
}else if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}Yelse if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
}Yelse if (formatStr.charAt(i) == ’f’) {

bo.setPiece(piece, 4, 4);
}
}
// kinl & ginl,gin2 ARHHE
}else if(kinlginlgin2Check(board)) {
for (int i =0; i<2;i++) {
switch(i) {

case 0:
piece = gyoku;
break;
case 1:
piece = e_gyoku;
break;
}
if (Character.getNumericValue (formatStr.charAt(i)) == 0) {

bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}Yelse if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}Yelse if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);
}Yelse if(formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}else if (formatStr.charAt(i) == ’e’) {

bo.setPiece(piece, 4, 3);
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387 }else if (formatStr.charAt(i) == ’f’) {

388 bo.setPiece(piece, 4, 4);

389 }

390 }// kin2

391 for (int i =3; i<4;i++) {

392 switch(i) {

393 case 3:

394 piece = kin2;

395 break;

396 }

397 if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
398 bo.setPiece(piece, 1, 1);

399 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
400 bo.setPiece(piece, 1, 2);

401 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
402 bo.setPiece(piece, 1, 3);

403 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
404 bo.setPiece(piece, 1, 4);

405 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
406 bo.setPiece(piece, 2, 1);

407 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
408 bo.setPiece(piece, 2, 2);

409 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
410 bo.setPiece(piece, 2, 3);

411 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
412 bo.setPiece(piece, 2, 4);

413 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
414 bo.setPiece(piece, 3, 1);

415 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
416 bo.setPiece(piece, 3, 2);

417 }else if (formatStr.charAt(i) == ’a’) {

418 bo.setPiece(piece, 3, 3);

419 }else if (formatStr.charAt(i) == ’b’) {

420 bo.setPiece(piece, 3, 4);

421 }else if(formatStr.charAt(i) == ’c’) {

422 bo.setPiece(piece, 4, 1);

423 Yelse if (formatStr.charAt(i) == ’d’) {

424 bo.setPiece(piece, 4, 2);

425 Yelse if(formatStr.charAt(i) == ’e’) {

426 bo.setPiece(piece, 4, 3);

427 Yelse if(formatStr.charAt(i) == ’f’) {

428 bo.setPiece(piece, 4, 4);

429 }

430 ¥

431 // kinl & kin2,gin2 AR5

432 }else if(kinlkin2gin2Check(board)) {

433 for (int i =0; i<2;i++) {

434 switch(i) {

435 case O:

436 piece = gyoku;

437 break;

438 case 1:

439 piece = e_gyoku;

440 break;

441 }

442 if (Character.getNumericValue(formatStr.charAt(i)) == 0) {
443 bo.setPiece(piece, 1, 1);

444 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
445 bo.setPiece(piece, 1, 2);

446 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
447 bo.setPiece(piece, 1, 3);

448 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
449 bo.setPiece(piece, 1, 4);

450 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
451 bo.setPiece(piece, 2, 1);

452 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
453 bo.setPiece(piece, 2, 2);

454 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
455 bo.setPiece(piece, 2, 3);

456 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
457 bo.setPiece(piece, 2, 4);

458 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
459 bo.setPiece(piece, 3, 1);

460 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
461 bo.setPiece(piece, 3, 2);

462 }Yelse if (formatStr.charAt(i) == ’a’) {
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463 bo.setPiece(piece, 3, 3);

464 }else if (formatStr.charAt(i) == ’b’) {

465 bo.setPiece(piece, 3, 4);

466 }else if (formatStr.charAt(i) == ’c’) {

467 bo.setPiece(piece, 4, 1);

468 }Yelse if (formatStr.charAt(i) == ’d’) {

469 bo.setPiece(piece, 4, 2);

470 }Yelse if (formatStr.charAt(i) == ’e’) {

471 bo.setPiece(piece, 4, 3);

472 Yelse if(formatStr.charAt(i) == ’f’) {

473 bo.setPiece(piece, 4, 4);

474 }

475 }//gin1

476 for (int i =4; i<5;i++) {

477 switch(i) {

478 case 4:

479 piece = ginl;

480 break;

481 }

482 if (Character.getNumericValue(formatStr.charAt(i)) == 0) {
483 bo.setPiece(piece, 1, 1);

484 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
485 bo.setPiece(piece, 1, 2);

486 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
487 bo.setPiece(piece, 1, 3);

488 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
489 bo.setPiece(piece, 1, 4);

490 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
491 bo.setPiece(piece, 2, 1);

492 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
493 bo.setPiece(piece, 2, 2);

494 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
495 bo.setPiece(piece, 2, 3);

496 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
497 bo.setPiece(piece, 2, 4);

498 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
499 bo.setPiece(piece, 3, 1);

500 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
501 bo.setPiece(piece, 3, 2);

502 }Yelse if (formatStr.charAt(i) == ’a’) {

503 bo.setPiece(piece, 3, 3);

504 Yelse if (formatStr.charAt(i) == ’b’) {

505 bo.setPiece(piece, 3, 4);

506 }Yelse if(formatStr.charAt(i) == ’c’) {

507 bo.setPiece(piece, 4, 1);

508 }else if(formatStr.charAt(i) == ’d’) {

509 bo.setPiece(piece, 4, 2);

510 }else if (formatStr.charAt(i) == ’e’) {

511 bo.setPiece(piece, 4, 3);

512 }else if (formatStr.charAt(i) == ’£’) {

513 bo.setPiece(piece, 4, 4);

514 }

515 }

516 // kin2 & ginl,gin2 AEHE

517 }else if(kin2ginlgin2Check(board)) {

518 for (int i =0; i<3;i++) {

519 switch(i) {

520 case O:

521 piece = gyoku;

522 break;

523 case 1:

524 piece = e_gyoku;

525 break;

526 case 2:

527 piece = kinl;

528 break;

529 ¥

530 if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
531 bo.setPiece(piece, 1, 1);

532 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
533 bo.setPiece(piece, 1, 2);

534 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
535 bo.setPiece(piece, 1, 3);

536 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
537 bo.setPiece(piece, 1, 4);

538 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
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bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) =
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) =
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);

}Yelse if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);

Yelse if(formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);

Yelse if(formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);

}else if(formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
}else if (formatStr.charAt(i) == ’f’) {

bo.setPiece(piece, 4, 4);

}

T
// kinl & kin2 A 55
}Yelse if(kinlkin2Check(board)) {
for (int i =0; i<2;i++) {
switch(i) {

case O:
piece = gyoku;
break;

case 1:
piece = e_gyoku;
break;

}

if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 2);

Yelse if(formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);

}else if(formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);

}else if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);

}else if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);

}else if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
}else if (formatStr.charAt(i) == ’£’) {

bo.setPiece(piece, 4, 4);
}
}//ginl gin2
for (int i =4; i<6;i++) {
switch(i) {
case 4:
piece = gini;
break;
case b:
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615

piece = gin2;
break;

}

if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}else if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}else if (formatStr.charAt(i) == ’c¢’) {
bo.setPiece(piece, 4, 1);
}Yelse if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}Yelse if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
Yelse if(formatStr.charAt(i) == ’f’) {

bo.setPiece(piece, 4, 4);
}
}
// kinl & ginl BB
}else if(kinlginiCheck(board)) {
for (int i =0; i<2;i++) {
switch(i) {

case 0:
piece = gyoku;
break;
case 1:
piece = e_gyoku;
break;
}
if (Character.getNumericValue(formatStr.charAt(i)) == 0) {

bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 2);

}Yelse if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}Yelse if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}Yelse if(formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);
}else if (formatStr.charAt(i) == ’d’) {

bo.setPiece(piece, 4, 2);
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}else
}else

}
}//kin2

if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
if (formatStr.charAt(i) == ’f’) {

bo.setPiece(piece, 4, 4);

for (int i =3; i<4;i++) {
switch(i) {

case 3:
piece = kin2;
break;
}
if (Character.getNumericValue (formatStr.charAt(i)) == 0) {

bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i))

}else
}else
Yelse
}else
}else
}else
}else
Yelse
}else
}else
Yelse
Yelse
Yelse
}else

¥
}//gin2

for (int i =5;

bo.setPiece(piece, 1, 2);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 1, 3);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 1, 4);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 1);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 2);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 3);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 4);

if (Character.getNumericValue (formatStr
bo.setPiece(piece, 3, 1);

if(Character.getNumericValue(formatStr
bo.setPiece(piece, 3, 2);

if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);

if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);

if (formatStr.charAt(i) == ’c¢’) {
bo.setPiece(piece, 4, 1);

if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);

if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);

if (formatStr.charAt(i) == ’f£’) {
bo.setPiece(piece, 4, 4);

i<6;i++) {

switch(i) {
case b:

}

if (Character.getNumericValue(formatStr.charAt(i)) == 0) {

}else
Yelse
}else
}else
Yelse
}else
Yelse
}else
}else
Yelse

Yelse

piece = kin2;
break;

bo.setPiece(piece, 1, 1);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 1, 2);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 1, 3);

if (Character.getNumericValue (formatStr
bo.setPiece(piece, 1, 4);

if (Character.getNumericValue(formatStr
bo.setPiece(piece, 2, 1);

if (Character.getNumericValue (formatStr
bo.setPiece(piece, 2, 2);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 3);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 4);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 3, 1);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 3, 2);

if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);

if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
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767
768
769
770
771
772
773
774
775
776
T
778
779
780
781
782
783
784
785
786

788
789
790
791
792
793
794
795
796
797
798
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805
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808
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}else
}else
}else
}else

}
}

if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);

if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);

if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);

if (formatStr.charAt(i) == ’£’) {
bo.setPiece(piece, 4, 4);

// kinl & gin2 H'F5E
}else if (kinlgin2Check(board)) {
for (int i =0; i<2;i++) {
switch(i) {

case O:
piece = gyoku;
break;
case 1:
piece = e_gyoku;
break;
}
if (Character.getNumericValue (formatStr.charAt(i)) == 0) {

bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i))

}else
Yelse
}else
}else
Yelse
}else
}else
}else
}else
}else
}else
}else
}else

Yelse

}
}//kin2 gini

bo.setPiece(piece, 1, 2);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 1, 3);

if(Character.getNumericValue(formatStr.

bo.setPiece(piece, 1, 4);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 1);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 2);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 3);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 4);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 3, 1);

if (Character.getNumericValue (formatStr.
bo.setPiece(piece, 3, 2);

if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);

if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);

if (formatStr.charAt(i) == ’c¢’) {
bo.setPiece(piece, 4, 1);

if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);

if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);

if (formatStr.charAt(i) == ’f’) {

bo.setPiece(piece, 4, 4);

for (int i =3; i<5;i++) {
switch(i) {

charAt (i))
charAt(i))
charAt (1))
charAt (i))
charAt(i))
charAt (1))
charAt (i))

charAt(i))

case 3:
piece = kin2;
break;
case 4:
piece = ginl;
break;
}
if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);
}else if(Character.getNumericValue(formatStr.charAt(i)) ==

}else
}else
Yelse

}else

bo.setPiece(piece, 1, 2);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 1, 3);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 1, 4);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 1);

if (Character.getNumericValue (formatStr.

bo.setPiece(piece, 2, 2);
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843 }else if(Character.getNumericValue(formatStr.charAt(i)) ==

844 bo.setPiece(piece, 2, 3);

845 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
846 bo.setPiece(piece, 2, 4);

847 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
848 bo.setPiece(piece, 3, 1);

849 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
850 bo.setPiece(piece, 3, 2);

851 }else if (formatStr.charAt(i) == ’a’) {

852 bo.setPiece(piece, 3, 3);

853 Yelse if(formatStr.charAt(i) == ’b’) {

854 bo.setPiece(piece, 3, 4);

855 Yelse if(formatStr.charAt(i) == ’c’) {

856 bo.setPiece(piece, 4, 1);

857 }else if(formatStr.charAt(i) == ’d’) {

858 bo.setPiece(piece, 4, 2);

859 Yelse if (formatStr.charAt(i) == ’e’) {

860 bo.setPiece(piece, 4, 3);

861 }else if (formatStr.charAt(i) == ’f’) {

862 bo.setPiece(piece, 4, 4);

863 }

864 }

865 // kin2,ginl AHEEE

866 }else if(kin2giniCheck(board)) {

867 for (int i =0; i<3;i++) {

868 switch(i) {

869 case O:

870 piece = gyoku;

871 break;

872 case 1:

873 piece = e_gyoku;

874 break;

875 case 2:

876 piece = kinl;

877 break;

878 ¥

879 if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
880 bo.setPiece(piece, 1, 1);

881 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
882 bo.setPiece(piece, 1, 2);

883 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
884 bo.setPiece(piece, 1, 3);

885 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
886 bo.setPiece(piece, 1, 4);

887 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
888 bo.setPiece(piece, 2, 1);

889 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
890 bo.setPiece(piece, 2, 2);

891 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
892 bo.setPiece(piece, 2, 3);

893 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
894 bo.setPiece(piece, 2, 4);

895 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
896 bo.setPiece(piece, 3, 1);

897 }else if(Character.getNumericValue(formatStr.charAt(i)) ==
898 bo.setPiece(piece, 3, 2);

899 Yelse if(formatStr.charAt(i) == ’a’) {

900 bo.setPiece(piece, 3, 3);

901 }else if(formatStr.charAt(i) == ’b’) {

902 bo.setPiece(piece, 3, 4);

903 Yelse if(formatStr.charAt(i) == ’c’) {

904 bo.setPiece(piece, 4, 1);

905 }Yelse if (formatStr.charAt(i) == ’d’) {

906 bo.setPiece(piece, 4, 2);

907 }else if (formatStr.charAt(i) == ’e’) {

908 bo.setPiece(piece, 4, 3);

909 }else if (formatStr.charAt(i) == ’£’) {

910 bo.setPiece(piece, 4, 4);

911 }

912 }//gin2

913 for (int i =5; i<6;i++) {

914 switch(i) {

915 case 5:

916 piece = gin2;

917 break;

918 }
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if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}else if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}else if (formatStr.charAt(i) == ’c¢’) {
bo.setPiece(piece, 4, 1);
}Yelse if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
Yelse if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
}else if(formatStr.charAt(i) == ’£’) {

bo.setPiece(piece, 4, 4);
}
}
// kin2,gin2 HEFHEEH
Yelse if (kin2gin2Check(board)) {
for (int i =0; i<3;i++) {
switch(i) {

case O:
piece = gyoku;
break;

case 1:
piece = e_gyoku;
break;

case 2:
piece = kinl;
break;

}

if (Character.getNumericValue(formatStr.charAt(i)) == 0) {

bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 2);

}Yelse if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}Yelse if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
Yelse if(formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);
}else if (formatStr.charAt(i) == ’d’) {

bo.setPiece(piece, 4, 2);
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}else
}else

by
}//gint

if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);

if (formatStr.charAt(i) == ’f’) {
bo.setPiece(piece, 4, 4);

for (int i =4; i<5;i++) {
switch(i) {
case 4:

}

piece = gini;
break;

if (Character.getNumericValue (formatStr.charAt(i)) == 0) {

bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i))

bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 1, 3);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 1, 4);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 2, 1);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 2, 2);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 2, 3);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 2, 4);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 3, 1);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 3, 2);
}else if(formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}else if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}else if (formatStr.charAt(i) == ’c¢’) {
bo.setPiece(piece, 4, 1);
}else if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}else if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
}Yelse if (formatStr.charAt(i) == ’f’) {
bo.setPiece(piece, 4, 4);
}
}
// gini,gin2 B"FEE
}else if (ginlgin2Check(board)) {
for (int i =0; i<4;i++) {
switch(i) {
case 0:
piece = gyoku;
break;
case 1:
piece = e_gyoku;
break;
case 2:
piece = kini;
break;
case 3:
piece = kin2;
break;
}
if (Character.getNumericValue (formatStr.charAt(i)) == 0)
bo.setPiece(piece, 1, 1);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 1, 2);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 1, 3);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 1, 4);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 2, 1);
}else if(Character.getNumericValue(formatStr.charAt(i))
bo.setPiece(piece, 2, 2);
}else if(Character.getNumericValue(formatStr.charAt(i))
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bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 7) {
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 8) {
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 9) {
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}else if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}else if (formatStr.charAt(i) == ’c¢’) {
bo.setPiece(piece, 4, 1);
}Yelse if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}Yelse if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
Yelse if(formatStr.charAt(i) == ’f’) {

bo.setPiece(piece, 4, 4);

}

}
// kinl D55
}else if (formatStr.charAt(0) == formatStr.charAt(2) || formatStr.charAt(1) == formatStr.charAt(2)) {

for(int i=0;i<2;i++) {

if (formatStr.charAt(i) == formatStr.charAt(2)){

bo.setKomadai (kin, i);

}
}
for (int i =0; i<2;i++) {

switch(i) {

case 0:
piece = gyoku;
break;

case 1:
piece = e_gyoku;
break;

}

if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 1) {
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 2) {
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 3) {
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 4) {
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 5) {
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 6) {

bo.setPiece(piece, 2, 3);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 7) {
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 8) {
bo.setPiece(piece, 3, 1);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 9) {
bo.setPiece(piece, 3, 2);
}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}Yelse if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}Yelse if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);
Yelse if(formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}else if(formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
}else if (formatStr.charAt(i) == ’£’) {

bo.setPiece(piece, 4, 4);
}
} //kin2 ginl gin2
for (int i =3; i<6;i++) {
switch(i) {
case 3:
piece = kin2;
break;
case 4:
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piece = gini;

break;

case 5:
piece = gin2;
break;

¥

if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 1) {
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 2) {
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 3) {

bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 4) {
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 5) {
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 6) {
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 7) {
bo.setPiece(piece, 2, 4);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 8) {

bo.setPiece(piece, 3, 1);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 9) {
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}else if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}else if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);
}else if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}Yelse if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
}Yelse if (formatStr.charAt(i) == ’f’) {

bo.setPiece(piece, 4, 4);

}

}
// kin2 b5
}else if(formatStr.charAt(0) == formatStr.charAt(3) || formatStr.charAt(1) == formatStr.charAt(3)) {

for(int i=0;i<2;i++) {

if (formatStr.charAt(i) == formatStr.charAt(3)){

bo.setKomadai(kin, i);

}
¥
for (int i =0; i<3;i++) {

switch(i) {

case 0:
piece = gyoku;
break;

case 1:
piece = e_gyoku;
break;

case 2:
piece = kini;
break;

}

if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 1) {
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 2) {
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 3) {

bo.setPiece(piece, 1, 4);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 4) {
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 5) {
bo.setPiece(piece, 2, 2);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 6) {

bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 7) {
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 8) {
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bo.setPiece(piece, 3, 1);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 9) {
bo.setPiece(piece, 3, 2);

}else if(formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}else if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}else if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);
}else if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}else if (formatStr.charAt(i) == ’e’) {

bo.setPiece(piece, 4, 3);
}else if(formatStr.charAt(i) == ’f’) {
bo.setPiece(piece, 4, 4);

}

}//ginl gin2

for (int i =4; i<6;i++) {
switch(i) {

case 4:
piece = ginl;
break;

case 5:
piece = gin2;
break;

}

if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 1) {
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 2) {
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 3) {

bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 4) {
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 5) {
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 6) {
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 7) {
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 8) {
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 9) {
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);

}else if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);

}else if (formatStr.charAt(i) == ’c’) {

bo.setPiece(piece, 4, 1);
}else if(formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);

}Yelse if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
Yelse if (formatStr.charAt(i) == ’f’) {

bo.setPiece(piece, 4, 4);

}

}
//ginl B IFEE
}else if (formatStr.charAt(0) == formatStr.charAt(4) || formatStr.charAt(1l) == formatStr.charAt(4)) {

for(int i=0;i<2;i++) {

if (formatStr.charAt(i) == formatStr.charAt(4)){

bo.setKomadai(gin, 1i);

}

}

for (int i =0; i<4;i++) {
switch(i) {

case 0:
piece = gyoku;
break;

case 1:
piece = e_gyoku;
break;

case 2:
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piece = kini;

break;
case 3:
piece = kin2;
break;
¥
if (Character.getNumericValue (formatStr.charAt(i)) == 0) {

bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);

}else if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);

}else if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);

}else if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);

}Yelse if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);

}Yelse if (formatStr.charAt(i) == ’f’) {
bo.setPiece(piece, 4, 4);

}

}//gin2

for (int i =5; i<6;i++) {
switch(i) {

case 5:
piece = gin2;
break;
}
if (Character.getNumericValue (formatStr.charAt(i)) == 0) {

bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) ==
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}Yelse if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}Yelse if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);
}Yelse if(formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}else if(formatStr.charAt(i) == ’e’) {

bo.setPiece(piece, 4, 3);
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}else if (formatStr.charAt(i) == ’f’) {
bo.setPiece(piece, 4, 4);

}

¥
// gin2 HB'RFLE
}else if(formatStr.charAt(0) == formatStr.charAt(5) || formatStr.charAt(1) == formatStr.charAt(5)) {

for(int i=0;i<2;i++) {

if (formatStr.charAt(i) == formatStr.charAt(5)){

bo.setKomadai(gin, i);

}
}
for (int i =0; i<5;i++) {

switch(i) {

case 0:
piece = gyoku;
break;

case 1:
piece = e_gyoku;
break;

case 2:
piece = kinl;
break;

case 3:
piece = kin2;
break;

case 4:
piece = ginl;
break;

}

if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 1) {
bo.setPiece(piece, 1, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 2) {
bo.setPiece(piece, 1, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 3) {
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 4) {
bo.setPiece(piece, 2, 1);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 5) {
bo.setPiece(piece, 2, 2);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 6) {

bo.setPiece(piece, 2, 3);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 7) {
bo.setPiece(piece, 2, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 8) {
bo.setPiece(piece, 3, 1);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 9) {
bo.setPiece(piece, 3, 2);
}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}Yelse if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}Yelse if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);
Yelse if(formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}else if(formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
}else if (formatStr.charAt(i) == ’£’) {

bo.setPiece(piece, 4, 4);

}

¥
// £ETOHIBE@ICH D
Yelse {
for (int i =0; i<6;i++) {
switch(i) {

case 0:
piece = gyoku;
break;

case 1:
piece = e_gyoku;
break;

case 2:
piece = kini;
break;

case 3:
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piece = kin2;

break;
case 4:
piece = gini;
break;
case 5:
piece = gin2;
break;
}
if (Character.getNumericValue (formatStr.charAt(i)) == 0) {
bo.setPiece(piece, 1, 1);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 1) {
bo.setPiece(piece, 1, 2);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 2) {

bo.setPiece(piece, 1, 3);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 3) {
bo.setPiece(piece, 1, 4);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 4) {
bo.setPiece(piece, 2, 1);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 5) {

bo.setPiece(piece, 2, 2);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 6) {
bo.setPiece(piece, 2, 3);

}else if(Character.getNumericValue(formatStr.charAt(i)) == 7) {
bo.setPiece(piece, 2, 4);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 8) {

bo.setPiece(piece, 3, 1);
}else if(Character.getNumericValue(formatStr.charAt(i)) == 9) {
bo.setPiece(piece, 3, 2);

}else if (formatStr.charAt(i) == ’a’) {
bo.setPiece(piece, 3, 3);
}else if (formatStr.charAt(i) == ’b’) {
bo.setPiece(piece, 3, 4);
}else if (formatStr.charAt(i) == ’c’) {
bo.setPiece(piece, 4, 1);
}else if (formatStr.charAt(i) == ’d’) {
bo.setPiece(piece, 4, 2);
}else if (formatStr.charAt(i) == ’e’) {
bo.setPiece(piece, 4, 3);
}Yelse if (formatStr.charAt(i) == ’f’) {

bo.setPiece(piece, 4, 4);
}

}
bo = new Board(bo.getBorad(), bo.getKomadai());
// bo.resetKomadai() ;
// bo = new Board(bo.getBorad(), komadai);
// return new Board(bo.getBorad(), bo.getKomadai());
}
/%%
*
* Qreturn
*/

public byte[] getBoard() {
return this.aaa;

}

public void isChecked() {

int counter=0;

for(int i =0;i<aaa.length;i++) {
if (checkMadeBoard(i)) {
madeBoard (i) ;
if (1 ( (bo.isChecked(0) && bo.isChecked(1)) || bo.ismultyChecked(0) || bo.ismultyChecked(1) )) {
bo.createMovableList (teban) ;
if (bo.isMate(teban)) {
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Yelse {

}

Yelse {

}

if (teban == 0)aaalil=2;//%FHb

else if(teban == 1)aaalil=1;//%FH>b

aaalil=4;

/] FELS»RVEICEENIDO>TWVES
if ((teban == 0 && bo.isChecked(1)) || (teban == 1 && bo.isChecked(0))) {

if (teban == 0)aaalil=1;//%&FHbL
else if(teban == 1)aaalil=2;//&FH>L

aaali]=4;

for(int i =0;i<aaa.length;i++) {
if (aaa[i]==0)undecided++;
if (aaali]l==1)win++;
if (aaal[i]==2)loss++;
if (aaa[i]==4)no++;

}

System.out.println("R#E"+undecided+"EFHBH "+wint+" B FHS "+loss+"FFEREE" " +no) ;

int x=0;
int hozon = 0;
int t=0;

while(t<1) {

/! KBEDROBEELORT BERELIHNIERE. TRTOFIETRERSET
for(int i =0;i<aaa.length;i++) {
if (aaalil==0) {

int num =0;

int sente=0; // %FHERE

int gote=0; // BFHEEE

madeBoard (i) ;

// HBERIC@rHnIE, BEICET

if (bo.getKomadai () [teban] [1] != 0) {
for(int k = 1; k <= 4; ++k) {

for(int j = 1; j <= 4; ++j) {

if (bo.getBorad() [k]1[j1 == EMPTY) {

}
}
// BEEICRAHNIE, BEICEY

if (teban == 0) {
bo.setPiece(kin, k, j);
Yelse {
bo.setPiece(e_kin, k, j);
¥

bo.deleateKomadai(kin, teban);

Board nextBoard = new Board(bo.getBorad(),bo.getKomadai());

if (teban ==0) {

X = 268435456 + nextBoard.madeIndex();

Yelse {
x=nextBoard.madeIndex () ;

}

if(aaalx] == 1) {
sente++;

Yelse if(aaalx] == 2) {
gotet++;

}

if (teban == 0) {
bo.deleatePiece(kin, k, j);
Yelse {
bo.deleatePiece(e_kin, k, j);
}

bo.setKomadai(kin, teban);
num++;

if (bo.getKomadai () [teban] [2] != 0) {
for(int k = 1; k <= 4; ++k) {
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}
}
undecided=0;
win=0;
loss=0;

}
}

for(int j = 1; j <= 4; ++j) {
if (bo.getBorad () [k] [j1 == EMPTY) {
if (teban == 0) {
bo.setPiece(gin, k, j);
Yelse {
bo.setPiece(e_gin, k, j);
}

bo.deleateKomadai(gin, teban);

Board nextBoard = new Board(bo.getBorad(),bo.getKomadai()) ;
if (teban ==0) {
x = 268435456 + nextBoard.madeIndex();
Yelse {
x=nextBoard.madeIndex();
¥
if (aaalx] == 1) {
sentet++;
}else if(aaalx] == 2) {
gote++;

}

if (teban == 0) {

bo.deleatePiece(gin, k, j);
Yelse {

bo.deleatePiece(e_gin, k, j);
}

bo.setKomadai(gin, teban);
num++;

// BEOEEHEET

bo.createMovableList (teban) ;

for(int n = 0; n < bo.getMovableList().size();n++) {
Board nextBoard = bo.nextBoardl(bo.getMovableList().get(n), bo.getKomadai());
if (nextBoard.gyoku != null && nextBoard.e_gyoku !=null) {

// teban 025 1 ICTBDICKET
if (teban ==0) {

X = 268435456 + nextBoard.madeIndex();
Yelse {

x = nextBoard.madeIndex();

}
if(aaalx] == 1) {

sente++;
Yelse if(aaalx] == 2) {
gote++;
}
num++;
}
if (nextBoard.getValue() == 1) nextBoard.deleateKomadai(kin, 1);
else if (nextBoard.getValue() == 2) nextBoard.deleateKomadai(gin, 1);

else if(nextBoard.getValue()
else if(nextBoard.getValue()

= 3) nextBoard.deleateKomadai(kin, 0);
= 4) nextBoard.deleateKomadai(gin, 0);

}
/! FEOBLREANHNEHSE. IXTOFIETHRERSAT

if(teban == 0) {

if (sente !=0 ) {

aaalil = 1;

}else if(num == gote) {

}

aaali] = 2;

}else if(teban == 1) {
if(gote !'=0 ) {

aaali] = 2;

}else if(num == sente) {

}
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1687
1688
1689
1690
1691
1692
1693
1694
1695
1696
1697
1698
1699
1700
1701
1702
1703
1704
1705
1706
1707
1708
1709
1710
1711
1712
1713
1714
1715
1716
1717
1718
1719
1720
1721
1722
1723
1724
1725
1726
1727
1728
1729
1730
1731
1732
1733
1734
1735
1736
1737
1738
1739
1740
1741
1742
1743
1744
1745
1746
1747
1748
1749
1750
1751
1752
1753
1754
1755
1756
1757
1758
1759
1760
1761
1762
1763

}

System
System
System
System

no=0;

for(int i =0;i<aaa.length;i++) {
if (aaa[i]==0)undecided++;
if (aaali]==1)win++;
if (aaa[i]==2)1loss++;
if (aaal[il==4)no++;

}
/] REEVRSBL R HRT
if (hozon == undecided) {
t++;
}
hozon = undecided;
System.out.print (counter) ;
System.out.println("RHEE"+undecided+" L FMB L "+wint+" B FEH "+loss+"EEFREE " "+no) ;
counter++;

.out.println("#IHIBE 1"+aaa[205336085]) ;
.out.println("¥HHI/E 2"+aaa[204657130]) ;
.out.println("¥)HA/FME 3"+aaa[204660249]) ;
.out.println("¥HHBME 4"+aaa[205332966]) ;

int i = 154224997+268435456;

int i = 70345796;

madeBoard (i) ;
System.out.println(bo.madeIndex());
bo.showBoard() ;

bo.showKomadai() ;

aaa[137902128] = 1;
System.out.println("FHfi" +aaalil);
bo.createMovableList (teban) ;
bo.showKomadai () ;

int[J[] komadai = bo.getKomadail();
System.out.println(teban);

for(int n = 0; n < bo.getMovableList().size();n++) {
System.out.println(n);
Board nextBoard = bo.nextBoardi(bo.getMovableList().get(n), bo.getKomadai());
nextBoard.showBoard() ;
nextBoard.showKomadai () ;
System.out.println(nextBoard.madeIndex());

if (nextBoard.getValue() == 1) nextBoard.deleateKomadai(kin, 1);

else if (nextBoard.getValue() == 2) nextBoard.deleateKomadai(gin, 1);
else if(nextBoard.getValue() == 3) nextBoard.deleateKomadai(kin, 0);
else if(nextBoard.getValue() == 4) nextBoard.deleateKomadai(gin, 0);

}
if (bo.getKomadai() [teban] [1] != 0) {
for(int k = 1; k <= 4; ++k) {
for(int j = 1; j <= 4; ++j) {
if (bo.getBorad () [k] [j] == EMPTY) {
if(teban == 0) {
bo.setPiece(kin, k, j);
Yelse {
bo.setPiece(e_kin, k, j);
}
bo.showBoard() ;
bo.deleateKomadai(kin, teban);
bo.showKomadai () ;
Board nextBoard = new Board(bo.getBorad(),bo.getKomadai());

if (aaa[nextBoard.madeIndex()] == 1) {
aaali] = 1;
}else if(aaa[nextBoard.madeIndex()] == 2) {

aaali] = 2;
}
System.out.println(nextBoard.madeIndex());
if(teban == 0) {

bo.deleatePiece(kin, k, j);
Yelse {

bo.deleatePiece(e_kin, k, j);
}

bo.setKomadai(kin, teban);
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}
}
bo.showKomadai () ;
if (bo.getKomadai () [teban] [2] !'= 0) {
for(int k = 1; k <= 4; ++k) {
for(int j = 1; j <= 4; ++j) {
if (bo.getBorad () [k] [j1 == EMPTY) {
if (teban == 0) {
bo.setPiece(gin, k, j);
Yelse {
bo.setPiece(e_gin, k, j);
¥
bo.showBoard() ;
bo.deleateKomadai(gin, teban);
bo.showKomadai () ;
Board nextBoard = new Board(bo.getBorad(),bo.getKomadai());

if (aaa[nextBoard.madeIndex()] == 1) {
aaali] = 1;
}else if (aaal[nextBoard.madeIndex()] == 2) {

aaali] = 2;
}
System.out.println(nextBoard.madeIndex());
if(teban == 0) {

bo.deleatePiece(gin, k, j);
Yelse {

bo.deleatePiece(e_gin, k, j);
}

bo.setKomadai(gin, teban);

}

bo.showKomadai() ;
System.out.println("FHfi" +aaalil);

aaa[154744880] = 1;

aaa[154742832] =2;

204555974

System.out.println("FHfi" +aaalil);

bo.createMovableList (teban) ;

bo.createMovableList (0) ;

if (bo.isMate(0)) {
System.out.println("SETE");

}

bo.showmovableListsize();

int n =bo.madeIndex();

System.out.println(bo.madeIndex());

madeBoard (bo.madeIndex()) ;

bo.showBoard() ;

bo.showKomadai() ;

System.out.println(bo.madeIndex());

madeBoard (bo.madeIndex());

bo.showBoard() ;

bo.showKomadai () ;System.out.println(bo.madeIndex());

madeBoard (bo.madeIndex());

bo.showBoard() ;

bo.showKomadai () ;

System.out.println(bo.madeIndex());
madeBoard (bo.madeIndex());
bo.showBoard() ;
bo.showKomadai () ;System.out.println(bo.madeIndex());
madeBoard (bo.madeIndex()) ;
bo.showBoard() ;

bo.showKomadai () ;
System.out.println(bo.madeIndex());
madeBoard (bo.madeIndex());
bo.showBoard() ;

bo.showKomadai () ;
System.out.println(bo.madeIndex());

58



/*x

// madeBoard (bo.madeIndex());

// bo.showBoard() ;

// bo.showKomadai () ;

// bo.showKomadai() ;

// if (isChecked(1616741)) {

// counter++;

// }

// if (bo.isChecked(0) && bo.isChecked(1)) {
// counter++;

// }

* Board ZEMTE BN EI D EIRT
* Q@param board
* Qreturn

*/

public boolean checkMadeBoard(int board) {

boolean ret = true;
if (268435456 <= board) {
board -= 268435456;

}

String formatStr = String.format("%07x", board); // 7THIICRZ2XT% 018H%T 3

/] EE& e~ENRULHBMALEERTE AL
if (formatStr.charAt(0) == formatStr.charAt(1)) {
ret = false;

}
// kinlkin2ginligin2 AR LY RICHS ab 0000

if ((formatStr.charAt(0) != formatStr.charAt(2) && formatStr.charAt(1) != formatStr.charAt(2)) &&

(formatStr.charAt(2) == formatStr.charAt(3) &&

formatStr.charAt(2) == formatStr.charAt(4) && formatStr.charAt(2) == formatStr.charAt(5))) {

ret = false;
¥
// kinlkin2gini ab 000x
if ((formatStr.charAt(0) !'= formatStr.charAt(2) && formatStr.charAt(1)
(formatStr.charAt(2) == formatStr.charAt(3) &&
formatStr.charAt(2) == formatStr.charAt(4) )) {
ret = false;
}
// kinlkin2gin2 ab 00x0
if ((formatStr.charAt(0) !'= formatStr.charAt(2) && formatStr.charAt(1)
(formatStr.charAt(2) == formatStr.charAt(3) &&
formatStr.charAt(2) == formatStr.charAt(5) )) {
ret = false;
}
// kinlginigin2 ab 0x00
if ((formatStr.charAt(0) != formatStr.charAt(2) && formatStr.charAt(1)
(formatStr.charAt(2) == formatStr.charAt(4) &&
formatStr.charAt(2) == formatStr.charAt(5) )) {
ret = false;
}
// kin2ginlgin2 ab x000
if ((formatStr.charAt(0) !'= formatStr.charAt(3) && formatStr.charAt(1)
(formatStr.charAt(3) == formatStr.charAt(4) &&
formatStr.charAt(3) == formatStr.charAt(5) )) {
ret = false;
¥
// kinlkin2 ab 00xx
if ((formatStr.charAt(0) != formatStr.charAt(2) && formatStr.charAt(1)
(formatStr.charAt(2) == formatStr.charAt(3))) {
ret = false;
¥
// kinlginl ab 0xOx
if ((formatStr.charAt(0) !'= formatStr.charAt(2) && formatStr.charAt(1)
(formatStr.charAt(2) == formatStr.charAt(4))) {
ret = false;
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}

/*x
* BRETHR/LHDIZAEDHE

* Qreturn

¥
// kinlgin2 ab 0xx0
if ((formatStr.charAt(0) !'= formatStr.charAt(2) && formatStr.charAt(1) != formatStr.charAt(2)) &&
(formatStr.charAt(2) == formatStr.charAt(5))) {
ret = false;
}
// kin2ginl ab x00x
if ((formatStr.charAt(0) != formatStr.charAt(3) && formatStr.charAt(1) '= formatStr.charAt(3)) &&
(formatStr.charAt(3) == formatStr.charAt(4))) {
ret = false;
¥
// kin2gin2 ab x0x0
if ((formatStr.charAt(0) !'= formatStr.charAt(3) && formatStr.charAt(l) != formatStr.charAt(3)) &&
(formatStr.charAt(3) == formatStr.charAt(5))) {
ret = false;
}
// ginlgin2 ab xx00
if ((formatStr.charAt(0) != formatStr.charAt(4) && formatStr.charAt(1) '= formatStr.charAt(4)) &&
(formatStr.charAt(4) == formatStr.charAt(5))) {
ret = false;

return ret;

public boolean allMotigomacheck(int board) {

boolean ret = false;
if (268435456 <= board) {
board -= 268435456;
}
String formatStr = String.format("%07x", board); // 7HIICRZ2XT% 0i18H%T 3
// kinl & kin2,ginl,gin2 »'# 55 1000000 or 0100000/ 10 1111 01 0000
if ((formatStr.charAt(0) == formatStr.charAt(2) || formatStr.charAt(1) == formatStr.charAt(2)) &&
formatStr.charAt(2) == formatStr.charAt(3) && formatStr.charAt(2) == formatStr.charAt(4)
&& formatStr.charAt(2) == formatStr.charAt(5)) {
ret = true;
for(int i=0;i<2;i++) {
if (formatStr.charAt (i) == formatStr.charAt(2)){
bo.setKomadai(kin, 1i);
bo.setKomadai(kin, 1i);
bo.setKomadai(gin, 1i);
bo.setKomadai(gin, i);

¥
// 10 0001 / 01 1110
if (((formatStr.charAt(0) == formatStr.charAt(5)) && (formatStr.charAt(l) == formatStr.charAt(2)))
&& (formatStr.charAt(2) == formatStr.charAt(3) && formatStr.charAt(2) == formatStr.charAt(4))
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 0);
}
// 10 0010 / 01 1101
if (((formatStr.charAt(0) == formatStr.charAt(4)) && (formatStr.charAt(1) == formatStr.charAt(2)))
&& (formatStr.charAt(2) == formatStr.charAt(3) && formatStr.charAt(2) == formatStr.charAt(5))
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 1);
}
// 10 0011 / 01 1100
if (((formatStr.charAt(0) == formatStr.charAt(4)) && (formatStr.charAt(1) == formatStr.charAt(2)))
&& (formatStr.charAt(2) == formatStr.charAt(3) && formatStr.charAt(4) == formatStr.charAt(5))
) {

ret = true;
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bo.setKomadai(kin, 1);
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 0);
}
// 10 0100 / 01 1011
if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(l) == formatStr.charAt(2)))
&& (formatStr.charAt(2) == formatStr.charAt(4) && formatStr.charAt(2) == formatStr.charAt(5))
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 1);
}
// 10 0101 / 01 1010
if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1l) == formatStr.charAt(2)))
&& (formatStr.charAt(2) == formatStr.charAt(4) && formatStr.charAt(3) == formatStr.charAt(5))
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 0);
}
// 10 0110 / 01 1001
if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1l) == formatStr.charAt(2)))
&& (formatStr.charAt(3) == formatStr.charAt(4) && formatStr.charAt(2) == formatStr.charAt(5))
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai (kin, 0);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 1);
}
// 10 0111 / 01 1000
if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1l) == formatStr.charAt(2)))
&& (formatStr.charAt(3) == formatStr.charAt(4) && formatStr.charAt(3) == formatStr.charAt(5))
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 0);
¥
// 10 1000 / 01 0111
if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(l) == formatStr.charAt(3)))
&& (formatStr.charAt(3) == formatStr.charAt(4) && formatStr.charAt(3) == formatStr.charAt(5))
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 1);
¥
// 10 1001 / 01 0110
if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1) == formatStr.charAt(3)))
&& (formatStr.charAt(3) == formatStr.charAt(4) && formatStr.charAt(2) == formatStr.charAt(5))
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 0);
¥
// 10 1010 / 01 0101
if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(l) == formatStr.charAt(3)))
&& (formatStr.charAt(3) == formatStr.charAt(5) && formatStr.charAt(2) == formatStr.charAt(4))
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 1);
}
// 10 1011 / 01 0100
if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1) == formatStr.charAt(3)))
&& (formatStr.charAt(2) == formatStr.charAt(4) && formatStr.charAt(2) == formatStr.charAt(5))
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) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 0);
}
// 10 1100 / 01 0011
if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1) == formatStr.charAt(4)))
&& (formatStr.charAt(2) == formatStr.charAt(3) && formatStr.charAt(4) == formatStr.charAt(5))
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 1);
}
// 10 1101 / 01 0010
if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1) == formatStr.charAt(4)))
&& (formatStr.charAt(2) == formatStr.charAt(3) && formatStr.charAt(2) == formatStr.charAt(5))
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 0);
}
// 10 1110 / 01 0001
if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1) == formatStr.charAt(5)))
&& (formatStr.charAt(2) == formatStr.charAt(3) && formatStr.charAt(2) == formatStr.charAt(4))
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 1);
}

return ret;

* kinlkin2ginl ’ESHDBEDHUE
* Qreturn

public boolean kinlkin2giniCheck(int board) {

boolean ret = false;
if (268435456 <= board) {
board -= 268435456;
¥
String formatStr = String.format("%07x", board); // 7HICHKZET% 0iED%T 3
// 10 000x / 01 111x
if ((formatStr.charAt(0) == formatStr.charAt(2) || formatStr.charAt(1l) == formatStr.charAt(2)) &&
formatStr.charAt(2) == formatStr.charAt(3) && formatStr.charAt(2) == formatStr.charAt(4)
) {
ret = true;
for(int i=0;i<2;i++) {
if (formatStr.charAt(i) == formatStr.charAt(2)){
bo.setKomadai (kin, i);
bo.setKomadai(kin, 1i);
bo.setKomadai(gin, 1i);

¥
}
// 10 001x / 01 110x
if (((formatStr.charAt(0) == formatStr.charAt(4)) && (formatStr.charAt(1l) == formatStr.charAt(2)))
&& formatStr.charAt(2) == formatStr.charAt(3)
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai (kin, 1);
bo.setKomadai(gin, 0);
}
// 10 010x / 01 101x
if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1) == formatStr.charAt(2)))
&& formatStr.charAt(2) == formatStr.charAt(4)
) {

ret = true;
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2154 bo.setKomadai(kin, 1);

2155 bo.setKomadai(kin, 0);

2156 bo.setKomadai(gin, 1);

2157 }

2158 // 10 011x / 01 100x

2159 if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(l) == formatStr.charAt(2)))
2160 && formatStr.charAt(3) == formatStr.charAt(4)

2161 ) {

2162 ret = true;

2163 bo.setKomadai (kin, 1);

2164 bo.setKomadai(kin, 0);

2165 bo.setKomadai(gin, 0);

2166 ¥

2167 // 10 100x / 01 O1lx

2168 if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1l) == formatStr.charAt(3)))
2169 && formatStr.charAt(3) == formatStr.charAt(4)

2170 ) {

2171 ret = true;

2172 bo.setKomadai(kin, 0);

2173 bo.setKomadai(kin, 1);

2174 bo.setKomadai(gin, 1);

2175 }

2176 // 10 101x / 01 010x

2177 if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1l) == formatStr.charAt(3)))
2178 & formatStr.charAt(2) == formatStr.charAt(4)

2179 ) {

2180 ret = true;

2181 bo.setKomadai(kin, 0);

2182 bo.setKomadai (kin, 1);

2183 bo.setKomadai(gin, 0);

2184 }

2185 // 10 110x / 01 001x

2186 if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1) == formatStr.charAt(4)))
2187 && formatStr.charAt(2) == formatStr.charAt(3)

2188 ) {

2189 ret = true;

2190 bo.setKomadai(kin, 0);

2191 bo.setKomadai(kin, 0);

2192 bo.setKomadai(gin, 1);

2193 ¥

2194 return ret;

2195 }

2196 /%

2197 * kinlginigin2 N"EHEHDIBEOHE

2198 * Qreturn

2199 */

2200 public boolean kinlginlgin2Check(int board) {

2201 boolean ret = false;

2202 if (268435456 <= board) {

2203 board -= 268435456;

2204 }

2205 String formatStr = String.format("%07x", board); // 7THIICRZ2XT% 0i18H%T 3

2206

2207 // 10 0x00 / 01 1x11

2208 if ((formatStr.charAt(0) == formatStr.charAt(2) || formatStr.charAt(1l) == formatStr.charAt(2)) &&
2209 formatStr.charAt(2) == formatStr.charAt(4) && formatStr.charAt(2) == formatStr.charAt(5)) {
2210 ret = true;

2211 for(int i=0;i<2;i++) {

2212 if (formatStr.charAt(i) == formatStr.charAt(2)){

2213 bo.setKomadai(kin, i);

2214 bo.setKomadai(gin, 1i);

2215 bo.setKomadai(gin, i);

2216 }

2217 }

2218 }

2219 // 10 0x01 / 01 1x10

2220 if (((formatStr.charAt(0) == formatStr.charAt(5)) && (formatStr.charAt(1l) == formatStr.charAt(2)))
2221 && formatStr.charAt(2) == formatStr.charAt(4)

2222 ) {

2223 ret = true;

2224 bo.setKomadai (kin, 1);

2225 bo.setKomadai(gin, 1);

2226 bo.setKomadai(gin, 0);

2227

2228 }

2229 // 10 0x10 / 01 1x01

2230 if (((formatStr.charAt(0) == formatStr.charAt(4)) && (formatStr.charAt(l) == formatStr.charAt(2)))
2231 && formatStr.charAt(2) == formatStr.charAt(5)
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) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 1);
¥
// 10 0x11 / 01 1x00

if (((formatStr.charAt(0) == formatStr.charAt(4)) && (formatStr.charAt(1l) == formatStr

&& formatStr.charAt(4) == formatStr.charAt(5)
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 0);
}
// 10 1x00 / 01 Ox11

if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1) == formatStr.

&& formatStr.charAt(4) == formatStr.charAt(5)
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 1);
}
// 10 1x01 / 01 0x10

if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(l) == formatStr.

&& formatStr.charAt(2) == formatStr.charAt(5)
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 0);
}
// 10 1x10 / 01 0x01

if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1l) == formatStr

&& formatStr.charAt(2) == formatStr.charAt(4)
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 1);
}
return ret;
}
/*%
* kinlkin2gin2 A H5HDIBEOHE
* Qreturn
*/
public boolean kinlkin2gin2Check(int board) {
boolean ret = false;
if (268435456 <= board) {
board -= 268435456;
}

String formatStr = String.format("%07x", board); // 7HIICRZ2XT% 018H%¥ 3

// 10 00x0 / 01 11x1

.charAt(2)))

charAt(4)))

charAt(4)))

.charAt(5)))

if ((formatStr.charAt(0) == formatStr.charAt(2) || formatStr.charAt(1) == formatStr.charAt(2)) &&

formatStr.charAt(2) == formatStr.charAt(3) && formatStr.charAt(2) == formatStr.charAt(5)) {

ret = true;
for(int i=0;i<2;i++) {
if (formatStr.charAt(i) == formatStr.charAt(2)){
bo.setKomadai(kin, i);
bo.setKomadai(kin, i);
bo.setKomadai(gin, 1i);

}
}
// 10 00x1 / 01 11x0

if (((formatStr.charAt(0) == formatStr.charAt(5)) && (formatStr.charAt(1l) == formatStr.charAt(2)))

&& formatStr.charAt(2) == formatStr.charAt(3)
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
}
// 10 01x0 / 01 10x1

if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1l) == formatStr.charAt(2)))
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2310 && formatStr.charAt(2) == formatStr.charAt(5)

2311 ) {

2312 ret = true;

2313 bo.setKomadai(kin, 1);

2314 bo.setKomadai(kin, 0);

2315 bo.setKomadai(gin, 1);

2316 }

2317 // 10 01x1 / 01 10%0

2318 if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1l) == formatStr.charAt(2)))
2319 u& formatStr.charAt(3) == formatStr.charAt(5)

2320 ) {

2321 ret = true;

2322 bo.setKomadai(kin, 1);

2323 bo.setKomadai(kin, 0);

2324 bo.setKomadai(gin, 0);

2325 }

2326 // 10 10x0 / 01 01x1

2327 if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(l) == formatStr.charAt(3)))
2328 && formatStr.charAt(3) == formatStr.charAt(5)

2329 ) {

2330 ret = true;

2331 bo.setKomadai(kin, 0);

2332 bo.setKomadai(kin, 1);

2333 bo.setKomadai(gin, 1);

2334 ¥

2335 // 10 10x1 / 01 01x0

2336 if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1l) == formatStr.charAt(3)))
2337 && formatStr.charAt(2) == formatStr.charAt(5)

2338 ) {

2339 ret = true;

2340 bo.setKomadai(kin, 0);

2341 bo.setKomadai(kin, 1);

2342 bo.setKomadai(gin, 0);

2343 }

2344 // 10 11x0 / 01 00x1

2345 if (((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1l) == formatStr.charAt(5)))
2346 u& formatStr.charAt(2) == formatStr.charAt(3)

2347 ) {

2348 ret = true;

2349 bo.setKomadai(kin, 0);

2350 bo.setKomadai(kin, 0);

2351 bo.setKomadai(gin, 1);

2352 }

2353 return ret;

2354 ¥

2355

2356 /%%

2357 * kin2ginigin2 AELEHDIBEOHIE

2358 * Qreturn

2359 */

2360 public boolean kin2ginligin2Check(int board) {

2361 boolean ret = false;

2362 if (268435456 <= board) {

2363 board -= 268435456;

2364 }

2365 String formatStr = String.format("%07x", board); // 7HIICRZ2XT% 018H%F 3
2366

2367 // 10 x000 / 01 x111

2368 if ((formatStr.charAt(0) == formatStr.charAt(3) || formatStr.charAt(1l) == formatStr.charAt(3)) &&
2369 formatStr.charAt(3) == formatStr.charAt(4) && formatStr.charAt(3) == formatStr.charAt(5)) {
2370 ret = true;

2371 for(int i=0;i<2;i++) {

2372 if (formatStr.charAt (i) == formatStr.charAt(3)){

2373 bo.setKomadai(kin, i);

2374 bo.setKomadai(gin, 1i);

2375 bo.setKomadai(gin, 1i);

2376 ¥

2377 }

2378 }

2379 // 10 %001 / 01 x110

2380 if (((formatStr.charAt(0) == formatStr.charAt(5)) && (formatStr.charAt(l) == formatStr.charAt(3)))
2381 && formatStr.charAt(3) == formatStr.charAt(4)

2382 ) {

2383 ret = true;

2384 bo.setKomadai(kin, 1);

2385 bo.setKomadai(gin, 1);

2386 bo.setKomadai(gin, 0);

2387 }
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2421
2422
2423

2465

// 10 x010 / 01 x101

if (((formatStr.charAt(0) == formatStr.charAt(4)) && (formatStr.charAt(1l) == formatStr.charAt(3)))

&& formatStr.charAt(3) == formatStr.charAt(5)
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 1);
}
// 10 x011 / 01 x100

if (((formatStr.charAt(0) == formatStr.charAt(4)) && (formatStr.charAt(1l) == formatStr.charAt(3)))

&& formatStr.charAt(4) == formatStr.charAt(5)
) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 0);
}
// 10 x100 / 01 x011

if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1l) == formatStr.charAt(4)))

&& formatStr.charAt(4) == formatStr.charAt(5)
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 1);
}
// 10 x101 / 01 x010

if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1) == formatStr.charAt(4)))

&& formatStr.charAt(3) == formatStr.charAt(5)
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);
bo.setKomadai(gin, 0);
}
// 10 x110 / 01 x001

if (((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1l) == formatStr.charAt(5)))

&& formatStr.charAt(3) == formatStr.charAt(4)
) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 0);
bo.setKomadai(gin, 1);
¥
return ret;

}

/**
* kinlkin2 H'RSEHDHE DYIE
* Qreturn
*/
public boolean kinlkin2Check(int board) {
boolean ret = false;
if (268435456 <= board) {
board -= 268435456;
}

String formatStr = String.format("%07x", board); // 7HICHKZET% 0iED%T 3

// 10 00xx / 01 11xx

if ((formatStr.charAt(0) == formatStr.charAt(2) || formatStr.charAt(1) == formatStr.charAt(2)) &&

formatStr.charAt(2) == formatStr.charAt(3)) {
ret = true;
for(int i=0;i<2;i++) {
if (formatStr.charAt(i) == formatStr.charAt(2)){
bo.setKomadai (kin, i);
bo.setKomadai(kin, 1i);

¥
¥
// 10 01xx / 01 10xx

if ((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1)

ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(kin, 0);
}
// 10 10xx / 01 Olxx

if ((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1)
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formatStr.charAt(2))) {

formatStr.charAt(3))) {



}

/*x

ret = true;

bo.setKomadai(kin, 0);

bo.setKomadai(kin, 1);
}

return ret;

* kinlginl NRFEHOBEDOHE
* Q@return

*/

public boolean kinlginiCheck(int board) {

}
/*x

boolean ret = false;
if (268435456 <= board) {
board -= 268435456;
}
String formatStr = String.format("%07x", board); // 7THICHKZ2ET% 0iED%ET 2

// 10 0x0x / 01 1xi1x
if ((formatStr.charAt(0) == formatStr.charAt(2) || formatStr.charAt(1) == formatStr.charAt(2)) &&
formatStr.charAt(2) == formatStr.charAt(4)) {
ret = true;
for(int i=0;i<2;i++) {
if (formatStr.charAt(i) == formatStr.charAt(2)){
bo.setKomadai(kin, 1i);
bo.setKomadai(gin, 1i);

}
}
// 10 Ox1x / 01 1x0x
if ((formatStr.charAt(0) == formatStr.charAt(4)) && (formatStr.charAt(1) == formatStr.charAt(2))) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
}
// 10 1x0x / 01 Oxix
if ((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1l) == formatStr.charAt(4))) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);

}

return ret;

* kinlgin2 NRFEHOBEDHE
* Qreturn

*/

public boolean kinlgin2Check(int board) {

boolean ret = false;
if (268435456 <= board) {
board -= 268435456;
}
String formatStr = String.format("%07x", board); // 7THICHKZET% 0iEH%T 3

// 10 0xx0 / 01 1xx1
if ((formatStr.charAt(0) == formatStr.charAt(2) || formatStr.charAt(1l) == formatStr.charAt(2)) &&
formatStr.charAt(2) == formatStr.charAt(5)) {
ret = true;
for(int i=0;i<2;i++) {
if (formatStr.charAt(i) == formatStr.charAt(2)){
bo.setKomadai(kin, i);
bo.setKomadai(gin, 1i);

}
}
// 10 0xx1 / 01 1xx0
if ((formatStr.charAt(0) == formatStr.charAt(5)) && (formatStr.charAt(l) == formatStr.charAt(2))) {
ret = true;
bo.setKomadai (kin, 1);
bo.setKomadai(gin, 0);
}
// 10 1xx0 / 01 Oxx1
if ((formatStr.charAt(0) == formatStr.charAt(2)) && (formatStr.charAt(1)
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);

= formatStr.charAt(5))) {
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}

/**

}

return ret;

* kin2ginl NRFFEEDIZEDHE
* Qreturn

*/

public boolean kin2giniCheck(int board) {

}

/**

boolean ret = false;
if (268435456 <= board) {
board -= 268435456;
}
String formatStr = String.format("%07x", board); // 7HIICRZ2XT% 0i18H%T 3

// 10 x00x / 01 x11x
if ((formatStr.charAt(0) == formatStr.charAt(3) || formatStr.charAt(1l) == formatStr.charAt(3)) &&
formatStr.charAt(3) == formatStr.charAt(4)) {
ret = true;
for(int i=0;i<2;i++) {
if (formatStr.charAt(i) == formatStr.charAt(3)){
bo.setKomadai(kin, i);
bo.setKomadai(gin, 1i);

¥
}
// 10 x01x / 01 x10x
if ((formatStr.charAt(0) == formatStr.charAt(4)) && (formatStr.charAt(1) == formatStr.charAt(3))) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
}
// 10 x10x / 01 x01x
if ((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1l)
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);

= formatStr.charAt(4))) {

}

return ret;

* kin2gin2 NMFLEEDHEDHE
* Q@return

*/

public boolean kin2gin2Check(int board) {

boolean ret = false;
if (268435456 <= board) {
board -= 268435456;
}
String formatStr = String.format("%07x", board); // 7HIICKZ2XT% 018H%F 3

// 10 x0x0 / 01 xix1
if ((formatStr.charAt(0) == formatStr.charAt(3) || formatStr.charAt(1) == formatStr.charAt(3)) &&
formatStr.charAt(3) == formatStr.charAt(5)) {
ret = true;
for(int i=0;i<2;i++) {
if (formatStr.charAt (i) == formatStr.charAt(3)){
bo.setKomadai(kin, i);
bo.setKomadai(gin, 1i);

}
¥
}
// 10 x0x1 / 01 x1x0
if ((formatStr.charAt(0) == formatStr.charAt(5)) && (formatStr.charAt(1l) == formatStr.charAt(3))) {
ret = true;
bo.setKomadai(kin, 1);
bo.setKomadai(gin, 0);
}

// 10 x1x0 / 01 x0x1

if ((formatStr.charAt(0) == formatStr.charAt(3)) && (formatStr.charAt(1) == formatStr.charAt(5))) {
ret = true;
bo.setKomadai(kin, 0);
bo.setKomadai(gin, 1);
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2622 return ret;

2623 }

2625 /x%

2626 * ginlgin2 AFLHDIBEDLE

2627 * Qreturn

2628 */

2629 public boolean ginlgin2Check(int board) {

2630 boolean ret = false;

2631 if (268435456 <= board) {

2632 board -= 268435456;

2633 }

2634 String formatStr = String.format("%07x", board); // 7THICKZ£T% 0iED%T 3

2636 // 10 xx00 / 01 xx11

2637 if ((formatStr.charAt(0) == formatStr.charAt(4) || formatStr.charAt(1) == formatStr.charAt(4)) &&
2638 formatStr.charAt(4) == formatStr.charAt(5)) {

2639 ret = true;

2640 for(int i=0;i<2;i++) {

2641 if (formatStr.charAt (i) == formatStr.charAt(4)){

2642 bo.setKomadai(gin, 1i);

2643 bo.setKomadai(gin, 1i);

2645 }

2646 ¥

2647 // 10 xx01 / 01 xx10

2648 if ((formatStr.charAt(0) == formatStr.charAt(5)) && (formatStr.charAt(1l) == formatStr.charAt(4))) {
2649 ret = true;

2650 bo.setKomadai(gin, 1);

2651 bo.setKomadai(gin, 0);

2652 }

2653 // 10 xx10 / 01 xx01

2654 if ((formatStr.charAt(0) == formatStr.charAt(4)) && (formatStr.charAt(l) == formatStr.charAt(5))) {
2655 ret = true;

2656 bo.setKomadai(gin, 0);

2657 bo.setKomadai(gin, 1);

2658 }

2660 return ret;

2661 }

2663 VAl

2664 * MIEDWME% ArrayList ICREFT D

2665 */

2666 // public void lastrecordBoard() {

2667 // for (int i=0; i<hashboardRecord.size(); ++i) {
2668 // if (! (isChecked (hashboardRecord.get(i)))) {
2669 // lastboardRecord.add (hashboardRecord.get (i));
2670 // }

2671 //

2672 // }

2673 // showBoard(lastboardRecord.size());

2674 //

2675 //

2676 // ¥

2678 /7 /%%

2679  // * WAEFHED D

2680 // * Q@param board

2681  // * Qreturn

2682 // */

2683  // public boolean isChecked(int board) {

2684 // madeBoard (board) ;

2685  // return bo.isChecked(0) && bo.isChecked(1);
2686 // }

2690 // public void showRecord() {

2691 // // for (int i=0; i<boardRecord.size(); ++i) {
2692  // // showBoard (boardRecord.get (i));
2693 /7 // ¥

2694 /7 System.out.println(aaa.length);

2695 7/ }

2698 // public void showBoard(long board_i) {
2699 7/
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//
//
//
//

System.out.print (board_i);

System.out.println();
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